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'"Tam Yogamiti manyte sthiramindriya dharanaam '

This definition has mentioned in the text:

. Bhagwadgita

. Yoga Sutra

. Kathopanisahad

. Yajnavalkya Smuriti
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1[Option ID=5001]
2[Option ID=5002]

3[Option ID=5003]
4[Option ID=5004]
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As per Nyaya Darshan in Panchavaya sentences of Pararthnuman Pratijna stands at the stage:

1. Pratham (first)
2. Dwitiya (second)
3. Tritiya (Third)
4. Chaturth (Fourth)
1) 1
2) 2
(3) 3
4) 4
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3[Option ID=5007]
4[Option ID=5008]
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In the Ramchritmanas the third 'Bhagati' amidst nine forms of Bhaktis figuring in Aranyakanda is:

. Company of Saints ( Association with saints)
. Service to the lotus feet of Guru

. Restraint over senses

. Conduct Sans animus
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3) 3
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1[Option ID=5009]
2[Option ID=5010]
3[Option ID=5011]
4[Option ID=5012]
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'Kurvannevehe Karmani jijivishechchatam Samah' Evam twayi nanyathetoasti na karmas lipyate nare'

This method of being free from the bondage of Karma in Karma Yoga has been dealt with in which of the
following text?

1. Yoga Sutra
2. Ishavasyopanishad
3. Dyanbindu Upanishad
4. Ramayana
1) 1
() 2
3) 3
(4) 4
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1[Option ID=5013]
2[Option ID=5014]
3[Option ID=5015]
4[Option ID=5016]
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According to Yogavashishth, Pranspand Niruddha, is:-

. Guru Updisht (Yukti)

. through Ashan (Consumption) of Amedhya Padarth
. Atrophy

. Salinity

1) 1

2) 2

3) 3

(4) 4
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1[Option ID=5017]
2[Option ID=5018]
3[Option ID=5019]
4[Option ID=5020]
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'Anyat shreyah anyat ut eva preyah, Ubhey nanarthe purusham Sinitha' It is stated in which Upanishad?

. Brihdaranyak

. Chhandogya

. Shwetashwatar
. Kath

1) 1

(2 2

(3) 3

(4) 4
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1[Option ID=5021]
2[Option ID=5022]
3[Option ID=5023]
4[Option ID=5024]
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Select correct answer regarding Mundaka Upanishad

1. Pranava Dhenu
2. Pranavo Dhanam
3. Pranavo Dhanuh

Pranavo Dhamah
1) 1
(2) 2
(3) 3
) 4
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1) 1
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(3) 3

4) 4

1[Option ID=5025]
2[Option ID=5026]
3[Option ID=5027]
4[Option ID=5028]
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Those questions, bearing the beginning of Kenopanishad pertain to :-

1. Shweta, Krisha, Rakta
2. Man, Pran, Vani, Chakshu and Karn
3. Hasta, Paad, Udar
4. Avega, Samvega, Udvega
1) 1
(2) 2
(3) 3
4 4
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1. 9d., PBI, 3G
2. 1, YT0T, 9ruft, =gf U i
3. g%, UTe, 3
4. 31T, HaTT, Il
1) 1
2) 2
3) 3
(4) 4

1[Option ID=5029]
2[Option ID=5030]
3[Option ID=5031]
4[Option ID=5032]
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"This soul is not attainable by the person who is lacking in Energy' is mentioned in -

1. Kathopanishada

2. Brihdaranyak Upanishad
3. Mandookya Upanishad
4. Mundak Upanishad

1) 1
() 2




3) 3
4) 4
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2. 9gERUTH JUlTNg
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1) 1

) 2

(3) 3

4) 4

1[Option ID=5033]
2[Option ID=5034]
3[Option ID=5035]
4[Option ID=5036]

Sl. No.10
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According to Dhyanbindupanishad the Swet (swed) coming forth on inhaling the air and subjecting them to
suppression through Kumbhak:

1. Should be made to dry by slow degrees.
2. Should be allowed to spread through various organs of body itself.
3. Should be wiped with one's Clothes
4. Should not be wiped
1) 1
(2) 2
(3) 3
(4) 4

SFfIgUAYG & TR UG bf Wigd, Hre gRTUdh TR (B dTel HIUMAH &) TRYH gRI1 Sl
HaH Ul (G a8, 39

 fR-+fR @ =fee

. {71 ¥ Bl HEA A1 A1leu

g ad ¥ gier =gy
4. T8l gisT 91fgu

1) 1
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(3) 3
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1[Option ID=5037]
2[Option ID=5038]
3[Option ID=5039]
4[Option ID=5040]
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QBID:1100011

Which of the following is not reckoned as the ones from among the ten main Nadis as per Yoga
Chudamanupanishad

1. Ida, Pingla, Sushumna
2. Padmini, Chakrini, Hastini
3. Yashaswini, Alambusa, kuhu
4. Gandhari, Hastijihva, Pusha
1
(2 2
(3) 3
4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5041]
2[Option ID=5042]

3[Option ID=5043]
4[Option ID=5044]
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Going by the prescription laid down in Yogtattvopanishad, post one's positioning in 'Ghatavastha' while
undergoing yoga practices, what proportion should one undertake in practices visa-vis the one he is undergoing?

. Half

. One third
. Quartile

. One fifth
1) 1

2) 2

(3) 3

4) 4
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1[Option ID=5045]
2[Option ID=5046]
3[Option ID=5047]
4[Option ID=5048]
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According to Patanjal Yoga Sutra, which of the following is not included in 'Sadhan Panchak'?

Shraddha
Vairagya
Samadhi
S

mriti

1;
2,
3.

4,
(1) 1
(2) 2
(3) 3
(4) 4
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(3) 3
(4) 4
1[Option ID=5049]
2[Option ID=5050]

3[Option ID=5051]
4[Option ID=5052]
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According to Patanjal Yoga Sutra 'Kritkaritanumodita' is related to

1. Sanyam
2. Vitarka

3. Mahavrata
. Tarka

1) 1

(2) 2

(3) 3

) 4
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1) 1

(2) 2
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4) 4

1[Option ID=5053]

2[Option ID=5054]

3[Option ID=5055]
4[Option ID=5056]
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According to Patanjal Yoga Sutra, Nirupkram' is the type of :

. Yoga

. Pratyahar
. Karma

. Niyama
1

(2) 2

(3) 3

4 4
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1[Option ID=5057]
2[Option ID=5058]

3[Option ID=5059]
4[Option ID=5060]
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According to Patanjal Yoga Sutra, which of the following continue to be in existence without change in the
species, place and hiatus of time:

1. Karma and Klesha

2. Samskara and Klesha
3. Jnana and Karma

. Smriti and Sanskara
11

(2) 2

(3) 3

4) 4
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1) 1
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1[Option ID=5061]
2[Option ID=5062]
3[Option ID=5063]
4[Option ID=5064]
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How many Marma points in human body have been referred to in Vasishtha Sambhita?

. Fifteen

. Sixteen

. Eighteen

. Twenty Four
1) 1

) 2

(3) 3

(4) 4
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(4) 4
1[Option ID=5065]
2[Option ID=5066]

3[Option ID=5067]
4[Option ID=5068]
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In which technique of Shatkarmas does the term 'Bhastravalloh Karasya' figure find mention in Hatha
Pradeepika?

2

3. Neti
4. Kapalbhati
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=5069]
2[Option ID=5070]
3[Option ID=5071]
4[Option ID=5072]
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In which of the following texts do we find the reference of Bhairavasan ?

1. Hathapradeepika
2. Hathratnavali
3. Yoga beeja
4. Gherand Samhita
1) 1
(2) 2
(3) 3
(4) 4
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1. goYcIiudl
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3. AT Il
4. TRUSYlRdT
1) 1
(2) 2
3) 3
4) 4
1[Option ID=5073]
2[Option ID=5074]

3[Option ID=5075]
4[Option ID=5076]
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In the Shiva Sambhita, which of the following has been referred to as the adobe of Prana?

1. Heart

2. Navel

3. Mooladhar
4. Larvax

1)1
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3) 3
(4) 4
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1[Option ID=5077]
2[Option ID=5078]
3[Option ID=5079]
4[Option ID=5080]
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Shoulder muscle is known as:-

1. Latissimus dorsi
2. Deltoid
3. Gluteus maximus
4. Rectus Abdominis
1) 1
2) 2
3) 3
4) 4
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1[Option ID=5081]
2[Option ID=5082]
3[Option ID=5083]
4[Option ID=5084]
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The innermost covering layer for a neuron is:-

1. Epineurium
2. Perineurium
3. Endoneurium
4. Ectoneurium

11

(2) 2

(3) 3

4) 4
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1)1
(2) 2
(3) 3
(4) 4

1[Option ID=5085]
2[Option ID=5086]
3[Option ID=5087]
4[Option ID=5088]
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Semantic memory is associated with

1. Conscious awareness of events
Obijective analysis of phenomenon
Aawareness of conscious feelings

4. Combination of several memory process
1

(2 2

(3) 3

(4) 4
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1[Option ID=5089]
2[Option ID=5090]
3[Option ID=5091]
4[Option ID=5092]
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Processing which to make use of stored knowledge and scheme as to interpret an incoming new information is
known as:

1. Sensory-motor processing
2. Bottom-Up processing
3. Perception-response processing
4. Top-down processing
1
2 2
(3 3
4 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5093]
2[Option ID=5094]

3[Option ID=5095]
4[Option ID=5096]
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Avirati can be restrained by :

. Shatkarma
. Asana

. Mudra

. Pratyahara
1) 1

2) 2

3) 3

4) 4
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(4) 4
1[Option ID=5097]
2[Option ID=5098]

3[Option ID=5099]
4[Option ID=5100]
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According to Bhagwad Geeta, anger leads to:

1. Attachment with the object
2. Destruction of discrimination
3. Desire of the object
4. Confused state of mind

1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=5101]
2[Option ID=5102]
3[Option ID=5103]
4[Option ID=5104]
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Which Guna predominates inner thirst and affection ?

Sattva Guna only
. Rajo Guna only
. Tamo Guna only

o

. Satva and Rajo Guna combined
1) 1
) 2
3) 3
(4) 4
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1[Option ID=5105]
2[Option ID=5106]
3[Option ID=5107]
4[Option ID=5108]
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Attitude of forebearance is known as

. Uparati
. Titiksha
. Sham

. Dama
11

(2) 2

(3) 3

) 4
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1[Option ID=5109]
2[Option ID=5110]
3[Option ID=5111]
4[Option ID=5112]
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Which is the correct formula for the analysis of body mass Index?

1. Weight (kg) / Hei ght2 (m)
2. Height* (m) / Weight (kg)
3. Weight (kg) / Height (m)
4. Height (m) / Weight (kg)

1 1
) 2




3) 3
(4) 4
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3
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4. didTs (M) / 9o ()
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=5113]
2[Option ID=5114]
3[Option ID=5115]
4[Option ID=5116]
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In yoga therapy, the disease of gut can easily be managed by:

1. Mulasodhana
2. Antardhauti
3. Dhantadhauti
4. Danda dhauti

1) 1

(2) 2

(3) 3

4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=5117]

2[Option ID=5118]

3[Option ID=5119]
4[Option ID=5120]
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Minor joints stiffness at morning-evening time is the basic symptom for:

1. Acute Arthritis

2. Gout

3. Rheumatoid Arthritis
. Osteoarthritis

11

(2) 2

(3) 3

4) 4
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=5121]

2[Option ID=5122]

3[Option ID=5123]
4[Option ID=5124]
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In Kundalini yoga, the digestive organs, glands and the solar plexus of nerves are symbolized by :

1. Ajna Chakra

2. Sahasrara Chakra
3. Bindu Chakra

4. Manipura Chakra
1) 1

(2) 2

(3) 3

4 4
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1[Option ID=5125]
2[Option ID=5126]
3[Option ID=5127]
4[Option ID=5128]
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According to Shiva Sambhita, with great efforts for 12 years Madhyam sadhakas become fit for which yoga -

1. Raja yoga
2. Laya yoga
3. Mantra yoga
4. Jnana yoga
11
(2) 2
(3 3
4 4
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() 2
3) 3
(4) 4
1[Option ID=5129]
2[Option ID=5130]

3[Option ID=5131]
4[Option ID=5132]
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According to book 'Teaching methods for yogic Practices' the performance of any activity "from known to
unknown" is related to:

1. Yogic Principles

2. Psychological principles
3. Educational Principles
4. Sociological principles
1

(2 2

(3) 3

(4) 4
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1. TS g
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1)1
) 2
(3) 3
(4) 4

1[Option ID=5133]
2[Option ID=5134]
3[Option ID=5135]
4[Option ID=5136]
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The teacher gives precise instructions which precede a demonstration and students perform accordingly. This
teaching method is known as:

1. Directed-practice Method
2. Demonstrated Method
3. Response-to-Instruction Method
4. Individualized Instruction Method
1) 1
(2 2
3) 3
(4) 4
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(4) 4

1[Option ID=5137]
2[Option ID=5138]
3[Option ID=5139]
4[Option ID=5140]
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In which clinical condition, is Ushtrasan beneficial

1. Hypertension
2. Diabetes Mellitus
3. Back pain and Kyphosis
4. Monilia and trichomonas
1
(2 2
(3) 3
(4) 4
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1[Option ID=5141]
2[Option ID=5142]
3[Option ID=5143]
4[Option ID=5144]
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In which text the Bhujangakarani Kumbhaka is mentioned?

. Asana Pranayama Mudra Bandha
. Siddha Siddhant Paddhati

. Shiva Sambhita

. Hatharatnavali

1) 1

) 2

(3 3

(4) 4
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1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=5145]
2[Option ID=5146]
3[Option ID=5147]
4[Option ID=5148]
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Stand straight, lift your neck up, eyes open, gaze in the sky and forcefully inhale and exhale. This practice is
known as:

1. Bhuddhi tatha dhriti Shakti Vikasaka

2. Uccharana sthala tatha Vishuddhi Chakra ki shuddhi
3. Medha Shakti Vikasaka

4. Smaran Shakti Vikasaka

11

(2) 2

(3) 3

4) 4
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(2) 2
(3) 3
4) 4

1[Option ID=5149]
2[Option ID=5150]
3[Option ID=5151]
4[Option ID=5152]
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Which of the following terms find frequent mention in Pt. Sriram Sharma Acharya's exposition relating to Sthool,
Sukshma and Karan Sharira in the instructions of Saveeta Dhyan Dharana ?

1. Gati, Prapti, Sthiti
2. Tripti, Tushti, Shanti
3. Darshana, Chaitan, Charitra
4. Shakti, Samarthya, Sthiti
1) 1
2) 2
(3) 3
4) 4

g, m?mmmmmmkﬁﬁﬁw,ﬁﬂawmﬂ?ﬁmﬁﬁmwwm
HIAG ?

1. 7ifa, ey, fRufa
2. gite, g, =i

3. 29[, o=, 3
4. Ifqa, g, fef

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5153]
2[Option ID=5154]
3[Option ID=5155]
4[Option ID=5156]

Sl. No.40
QBID:1100040




According to Nyaya Darshana evidence includes:

A. Upmaan

B. Artthapatti
C. Anupalabdhi
D. Shabda

E. Aitihya

Choose the correct answer from the options given below:

1. A, D only
2.B, Conly
3.C,D only
4.D, E only

1

(2 2

(3) 3

(4) 4

I TR & TR THTS |

i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1.hdd A, D
2. Hdd B, C
3.Had C,D
4. $dd D, E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5157]
2[Option ID=5158]

3[Option ID=5159]
4[Option ID=5160]

Sl. No.41
QBID:1100041

Which of the following Karmas (deeds) have been termed as 'Nirodha' in Narada Bhaktisutra.

A. Good deeds

B. Worldly deeds. (Mundane acts)
C. Evil deeds

D. Vaidik rituals

E. Routine Acts

.A.Bonly
.B. C only
.B. D only
. D, E only
1) 1
(2 2
(3) 3
(4) 4

W b =

=




TREHITT G H b1 HHI & AR Bl FRIY ST TG -

A Y DY
B. difdrd &H
C. 3fH DHH
D. dfce HH
E. a1

I fau T fasheni H ¥ Tad Iugad 3R BT 99 DI

1. hdd A, B
2. Hdd B, C
3. $dd B, D
4.Hdd D, E

(1)1
() 2
(3) 3
(4) 4

1[Option ID=5161]
2[Option ID=5162]
3[Option ID=5163]
4[Option ID=5164]

Sl. No.42
QBID:1100042

According to the Chhandogya Upanishad:

A. Angira rishi observed Udgethopasna as mukhya prana.
B. Kapila rishi observed Udgethopasna as prana

C. Prana is not called Angiras

D. Prana is also called Angiras

E. Prana is the rasa of Angas

Choose the correct answer from the options given below:

1.B.D. E only
2. A, D, E only
3.B,C. Eonly
4. A, C,E only

1)1
(2) 2
(3) 3
(4) 4

BTG UG & 3ER

A. HITRT BN = &0 & U H ST i of
B. B0 BN 4 U0 & 9 § IS A9RGBl 2l

C. T Bl 3R 78l Pad o

D. YT &l 3R i Fgd B

E. YI0T 31 H139 3 |

i AU 7Y fdp el H ¥ 98 Iugdd IR &I 99 il
1.dd B.D.E
2. HqA A D.E
3. $HddB. C.E
4. PAAA.C.E

1) 1




() 2
3) 3
(4) 4
1[Option ID=5165]
2[Option ID=5166]

3[Option ID=5167]
4[Option ID=5168]

Sl. No.43
QBID:1100043

Which of the following Bhavas act as an inducement to Arjuna entering into warfare in Karmayoga as mentioned
in Bhagvadgeeta:-

A. Jwarkritwa
B. Nirashih

C. Jwarbhootwa
D. Nirmamah

E. Vigat Jwarah

Choose the correct answer from the options given below:

. A, C,E only
.A,B,D only
.B, C,D only
.B. D, E only
1
(2 2
(3) 3
(4) 4

rag il H HHA & orafa, e P S e Y gg s S U Be1 8.9 % -

A, vdqRpdl
B. fARr=it:

C. SaRYl
D. e H:
E. faidoax:

i< faU U fapedl H 9 963 Iugdd IR &I 99 Hifol:

1. hdd A, C,E
2. Hdd A, B, D
3.%dd B, C.D
4. $dd B, D, E

(1)1
(2) 2
(3) 3
(4) 4

L

=

1[Option ID=5169]
2[Option ID=5170]
3[Option ID=5171]
4[Option ID=5172]

Sl. No.44
QBID:1100044




As per Shwetashwtar Upanishad, which of the following have been referred as primary indicators of
Yogapravriti?

A. Varnaprasadam
B. Aamrogam
C. Subh gandh
D. Lolupatvam
E. Swar saushthav

Choose the Correct answer from the options given below:

A, B, C only
A, C,E only
C, D, E only
A, C,D only

L
2,
3.

4.

(1) 1
) 2
(3) 3
(4) 4

YATHR UG & SR AT Hafr & Urifiis qemr s Mg -

A. 901 UHTGH
B. 3THINT

C. }H T

Dﬁﬂ@w

= fau Y fadedl # ¥ 9e8 Iugad IR 1 989 DI

1. Hdd A, B, C
2. Hdd A, C.E
3. %dd C.D.E
4. FAAA.C.D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=5173]

2[Option ID=5174]

3[Option ID=5175]
4[Option ID=5176]

Sl. No.45
QBID:1100045

The places prescribed for Saraswati Chalan in Yogkundalupanishad are:-

A. Atyuchhaneech

B. Sharkaraadivivarjit
C. Pavitra

D. Nirjana

E. Shitagnijalvarjit

Choose the correct answer from the options given below:

1.B,C,D, E only

2.C,D,E, Aonly

3.A.B.C.Donly

4.D.E, A, Bonly
1) 1




3) 3
(4) 4

TR =10 & [T A Usequng # ST A $e MU e. 48

A.
B. Ydiafdaold
C.gfdA
D. fAsH
E. Yiaissraasid

i fAu T fash el H 9 el IR &1 98- Hife:

1.%dd B,C.D.E
2. HddC,D,E, A
3.%dd A, B.C.D
4. $hddD,E.A.B

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=5177]
2[Option ID=5178]
3[Option ID=5179]
4[Option ID=5180]

Sl. No.46
QBID:1100046

Characteristics of Nadishuddhi as per Yogtattvopanishad are:-

A.Lom

B. Jatharaagnivivardhan
C. Sharir laghuta

D. Keshmochan

E. Krishatva

Choose the most correct answer from the options given below:-

. A, C,E only
. A, B. C only
.B.D, E only
.B,C,Eonly
1
(2 2
(3) 3
(4) 4

W I =

=




ARTAAIYTNG & TR TSIYfe P &I 6:

A @ H
B. SiaxIfdas T

C. IR AYdTl
D. HRHIEA

E. $Yd
il faU 7Y fdpedl H I 9ad Iugdd IR &I 94 DI

1. ®hdd A, C.E
2. Hdd A, B, C
3. %ddB,D.E
4. $dd B, C.E

1)1
() 2
(3) 3
(4) 4

1[Option ID=5181]
2[Option ID=5182]
3[Option ID=5183]
4[Option ID=5184]

Sl. No.47
QBID:1100047

Which of the following are Kayasampat:-

A. Lavanya

B. Vajrasamhanan
C. Prapti

D. Bal

E. Aswad

Choose the most appropriate answer from the options given below:-

. A, B, C only
.A,B. D only
. A, B, E only
.B.D. E only
1) 1
(2) 2
(3) 3
(4) 4

STH U HTEW § -

W I =

e

A. dIdUg
B. 99igg-
C. U
D.dd

E. 3Xdla

[

i< faU 7Y fdpedl H 9 93 Iugdd IR &I 99 DI

1.$hdd A, B, C
2. %dd A, B,D
3. $dd A, B.E
4. 9dd B, D.E

1) 1




) 2
3) 3
(4) 4
1[Option ID=5185]
2[Option ID=5186]

3[Option ID=5187]
4[Option ID=5188]

Sl. No.48
QBID:1100048

According to Patanjal Yoga Sutra, the Siddhis attained through Purushjnana are:-

A. Darshan of Siddhas
B. Shrawan

C. Parshariravesh

D. Vedana

E. Varta

Choose the most appropriate answer from the options given below:-

. A, B, C only
.B, C, D only
.B, D, E only
.C, D, E only

1)1
) 2
(3) 3
(4) 4

TcTe AT & SATHR GRS A Ui Rl ¢

PN 3
B. 41a0]
C. IRIRRAY
D.deAq
E. drdl

=i fou e fam el & 9 999 Iugad IR $1 909 DI

1.$hdd A, B.C
2.%Hdd B, C,D
3. %dd B, D, E
4. Hdd C,D,E

(1) 1
(2) 2
(3) 3
(4) 4

b D =

£

1[Option ID=5189]
2[Option ID=5190]
3[Option ID=5191]
4[Option ID=5192]

SlI. No.49
QBID:1100049




According to Patanjal Yoga Sutra Samadhi Parinaam is:-

A. Vyuthan Samskara Abhinav
B. Sarwarth kshaya

C. Tulya Pratyaya Shanta

D. Ekagrata Uday

E. Tulya Pratyaya Udit

Choose the correct answer from the options given below:-

1. A, Bonly
2. A, Conly
3.B.D only
4.D, E only

1

(2 2

(3) 3

(4) 4

grcoel AT YA & TR 1Y aRom ¢:

A. G THR HHHg
B. 9aid &

C. I U Q1

D. Ul 367

E. o 9y 3fad

Oy

i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1. hdd A, B
2. HAd A, C
3. ®dd B, D
4. $dd D, E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5193]
2[Option ID=5194]
3[Option ID=5195]
4[Option ID=5196]

Sl. No.50
QBID:1100050

According to Vasishtha Sambhita, Niyamas are:-

A. Shaucha

B. Astikya

C. Daan

D. Ahimsa

E. Ishwarpuja

Choose the correct answer from the options given below:-

1. A, B.E only
2.B,C, D only
3.B.C. Eonly
4.C.D.E only
1) 1
() 2
(3 3




4) 4
IREdiear & SHUR Han g -

AT

B. 3TIa
C.TH

D. 3ifgdr
E. $4R oIl

i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1. $hdd A, B.E
2. $dd B, C,D
3. %dd B, C.E
4.%dd C, D, E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5197]
2[Option ID=5198]
3[Option ID=5199]
4[Option ID=5200]

Sl. No.51
QBID:1100051

As per Hatha Pradeepika. which of the following characteristics of Swatmaram are regarded as elite:

A. Srishtisamharakarak

B. Sompanam Karoti Yah

C. Gomansam Bhakshayennityam
D. Pibedamarvarunim

E. Somkalapurnam dehi

Choose the correct answer from the options given below:-

1. C,Donly
2. A, Bonly
3.B,Conly
4.D, E only

1) 1

(2 2

3 3

(4) 4

gAUCIUDT H TTHRTH Sl Sl HIFd § 31 &MUl g -

A. 9P HgRPRP:
B. AT Hfd T:
C. A HarfHd
D. [fecHRar=1iH

E. QAT <al
< feu U fadedl # ¥ 9e8 Iugad IR B 99 DI

1.$dd C, D
2. hdd A, B
3. $dd B, C
4. hadD. E




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5201]
2[Option ID=5202]

3[Option ID=5203]
4[Option ID=5204]

Sl. No.52
QBID:1100052

According to Shiva Samhita, Niyamas are:-

A. Dhriti (Patience)

B. Santosh (Contentment)
C. Kshama (Forgiveness)
D. Swadhyaya (Self study)
E. Shaucha (Purification)

Choose the correct answer from the options given below:

.B,C,E only
.A,C.E only
.C,D, Aonly
.B.C,D only

1) 1
(2) 2
(3) 3
(4) 4

fRrasfgd & SHuUR g -

A yfd
B. 99

C. &Ml
D. WY
E. QI

i fau U f[ah el § 9 99y el 3R &1 999 DIl

1. %dd B, C.E
2. Hdd A, C,E
3.$dd C,D.A
4. $hdd B, C.D

1 1
(2) 2
(3) 3
(4) 4

[FURN RS-

=

1[Option ID=5205]
2[Option ID=5206]
3[Option ID=5207]
4[Option ID=5208]

Sl. No.53
QBID:1100053




Examples of Ketogenic Amino Acid:-

A. Ovovitelin and Chymotrypsin
B. Excelsin and Leucine

C. Leucine and Isoleucine

D. Tyrocine and Phenylalanine
E. Isoleucine and Chymotrypsin

Choose the correct answer from the options given below:

. A, Bonly
. B, C only
.C,D only
. D, E only
1
(2 2
(3) 3
(4) 4

e S ot o $ JaTeRuE:

LTS I o B

=

i fAu T Aol H 9 e IR 1 98 ST

1. hdd A, B
2. Hdd B, C
3.Had C,D
4. $dd D, E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5209]
2[Option ID=5210]

3[Option ID=5211]
4[Option ID=5212]

Sl. No.54
QBID:1100054

Hormones secreted by the Pituitary Gland:-

A. Adrenocorticotropic Hormone
B. Epinephrine

C. Thyroid Stimulating Hormone
D. Cortisol

E. Triidothyronine

Choose the correct answer from the options given below:

1. A, B only
2. A, Conly
3.B,Donly
4.C,E only
1) 1
() 2
(3) 3




(4) 4

Uiy Ui gRT Arfdd giH Fufafaa 4 s T g 2

A. TSI DIeius gHH
B. UGB

C. YRR1ZS eqafen gmi
D.

E. CTSSIURRIARA

Oy

i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1. hdd A, B
2. HAd A, C
3. ®dd B, D
4. $dd C, E

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=5213]
2[Option ID=5214]
3[Option ID=5215]
4[Option ID=5216]

Sl. No.55
QBID:1100055

Total lungs capacity is combination of:

A. Tidal Volume

B. Inspiratory Reserve Volume
C. Expiratory Reserve Volume
D. Vital Capacity

E. Residual Volume

Choose the correct answer from the options given below:

1. A, B only
2.B. C only
3.C,Donly
4. D,E only

1) 1

(2 2

3 3

(4) 4

Bthsl B Hd &l H Hafafad # 9 fhgdt anT ¢:

A. SARIY 3gad

B. 3{=0:49 RI&T S1ga
C. |- 4T 3RIE 3Mad-
D. S &Hd

E. Ay Sga-

< feu Y fashed! # 9 HEl IR 1 9g HIfT:

1.$dd A, B
2. $9d B, C
3.$Hdd C, D
4. hadD. E




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5217]
2[Option ID=5218]

3[Option ID=5219]
4[Option ID=5220]

Sl. No.56
QBID:1100056

Apah (water) originated from:-

A. Akash

B. Vayu
C.Bhu

D. Kaal (Time)
E. Agni

Choose the correct answer from the options given below:

.A,C,Donly
.C.D.E only
.A.B.E only
. A, C,E only

1) 1
(2) 2
(3) 3
(4) 4

3TT: (STeh) Bt IR Fel U §s o

A. 3THI
B.dY

(o |

D. DI (HHY)
E. 3

i< fau T fdspenl H 9 g1 3R &1 95 Difow:

1.HAdA. C.D
2. HAAC.D. E

LOTW I O T

=

1[Option ID=5221]
2[Option ID=5222]
3[Option ID=5223]
4[Option ID=5224]

Sl. No.57
QBID:1100057




Sadhaka should not adhere fo strict rules and regulations such as:-

A. Moderate Diet

B. Early morning bath

C. Cold Bath

D. Doing fasting

E. Should have firm resolution

Choose the correct answer from the options given below:

.A,C,Eonly
.B,C, D only
.B.D. E only
.A. D, E only

1)1
(2) 2
(3) 3
(4) 4

1eh 1 FHgfaiad R Fodi ud faaal # ogid g1 g e ¢

A. Hdferd SgR

B. UId:ahleid HH
C. Zfiaeid 9 9@H
D. Id &l

E. T¢ Yheq 1@ d1igU
i fAu T fas el H 9 e IR &1 98 Sifoe:

1. hdd A, C.E
2. $dd B, C,D
3.%ddB,D,E
4. bdd A, D.E

1) 1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=5225]
2[Option ID=5226]
3[Option ID=5227]
4[Option ID=5228]

Sl. No.58
QBID:1100058

For the practice of 'Vyan Mudra' we have to touch the tips of:

A. Thumb

B. Index finger
C. Middle finger
D. Ring finger
E. Little finger

Choose the correct answer from the options given below:

A, B, C only

B. C, D only
.C, D, E only
4. A, D, E only

1) 1

2) 2

(3 3

I
2.
3




(4) 4

A ol b 1Y od HufeiRad o I fog siyferdl & 31 UHT &l 10y T W HA1 gl o

A. 38

B. doil

C. HeH]
D. 3HIHSI

E. B8]
i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1.$hdd A, B, C
2. $dd B, C,D
3.%dd C,D,E
4. bdd A, D.E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5229]
2[Option ID=5230]
3[Option ID=5231]
4[Option ID=5232]

Sl. No.59
QBID:1100059

According to the Gheranda Sambita for the attainment of body like 'Kamadeva' the relevant Yogic practice are:

A. Jala Basti

B. Khechari

C. Trataka

D. Sheet Kram - Kapalabhati
E. Nauli

Choose the correct answer from the options given below:

1. A, Donly
2. B, C only
3.B.Eonly
4. C,E only

(1)1
(2) 2
(3) 3
(4) 4

US Higdl & SR, 'SHGT & 22 BT DI UIftd g Wil armsarg Hafefad # 9 o 9 6:

A. OTd g
B. Wil
C. AcH

D. idhH - HUTAHIT
E. Aifer

< feu U fadedl # ¥ 9e8 Iugad IR B 99 DI

1.$dd A, D
2. $9d B, C
3. $ddB.E
4.$dd C, E




1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=5233]
2[Option ID=5234]

3[Option ID=5235]
4[Option ID=5236]

Sl. No.60
QBID:1100060

The most recommended Yogic practices for the nourishment of pelvic muscles are:-

A. Mulabandha

B. Ashwini Mudra

C. Tadagi Mudra

D. Uddiyana Bandha

E. Vipareet Karani Mudra

Choose the correct answer from the options given below:

. A, Bonly
. B, C only
.C,D only
. D, E only

1) 1
(2) 2
(3) 3
(4) 4

S1fOr O & divor gq Yalfded Iuger Frmar Fufaad f 9 1 9 6:

A HAgY

B. {1 {1

C. dsrll Ha

D. 3fgar dy

E. faudiae ol gar

i fGu T A el § 9 WE IR &1 98 i

1. hdd A, B
2. Hdd B, C
3.%dd C,D
4. $dd D, E

1) 1
(2) 2
(3) 3
(4) 4

LTS I o B

=

1[Option ID=5237]
2[Option ID=5238]
3[Option ID=5239]
4[Option ID=5240]

Sl. No.61
QBID:1100061




According to book "Teaching methods for Yogic Practices" the essential factors for a class:

A. Teaching

B. Communication aids
C. Students

D. Environment

E. Management

Choose the correct answer from the options given below:

1. A, C,D only
2.A.D.E only
3.B.C,E only
4.B.D. E only

1) 1
(2) 2
(3) 3
(4) 4

eI HYSH BR Ui Haedel 9Hd Y & IR Uh Hafl od AHad PRS © |

A. Treor

B. T fad (@R
C. faemadf

D. TR

E. Ud¢

Oy

i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1.$hdd A, C.D
2. HAd A, D, E
3. %dd B, C.E
4. $hdd B, D.E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5241]
2[Option ID=5242]
3[Option ID=5243]
4[Option ID=5244]

Sl. No.62
QBID:1100062

According to the book "Teaching methods for Yogic Practices" teaching of yoga practices involve:-

A. Reading Books

B. Observation

C. Demonstration

D. Understanding theories and models
E. Practice

Choose the correct answer from the options given below:

1.B, C, E only
2. A E.Bonly
3.C,D, E only
4.B.D. E only
1) 1
2) 2

3) 3




(4) 4

T HUSH BR Ui Heedel 91Hd Qe o AR TN B Ui fohanei & R o gfifad §:

A. JIH-Y3

B. 3{ddildh

C. UagH

D. il 3R Alsdl (ufaedh) & THeAl
E. 39Ty

i fAu T fas el H 9 e IR &1 98 Sifoe:

1. $dd B.C.E
2. Hdd A E.B
3. $%dd C.D. E
4. %dd B.D.E

1) 1

() 2

(3) 3

4) 4

1[Option ID=5245]

2[Option ID=5246]

3[Option ID=5247]
4[Option ID=5248]

Sl. No.63
QBID:1100063

According to book 'Teaching methods for Yogic Practices' the recommended teaching principles are:-

A. Psychological Principles

B. Economical Principles

C. Anatomico-Physiological Principles
D. Communication Principles

E. Sociological Principles

Choose the correct answer from the options given below:

A, B. Conly
B. C. D only
C,D, E only
A, C,E only

1;
z.
%
4.
11
() 2

3) 3
(4) 4

U "I HYSH Bk Al Hfacdv” & 3R Iugdd f<id o

I CICRIBEAREAR

B. fidaiaar &1 Rigid

C. ARING - faragn—s Rigid
D. YUYl &I i

E. JHSRE [gid

< feu Y fashed! # 9 HEt IR 1 9g HIf:

1.hdd A, B, C
2. $dd B, C.D
3.$dd C,D.E
4. hdd A, C.E




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5249]
2[Option ID=5250]

3[Option ID=5251]
4[Option ID=5252]

Sl. No.64
QBID:1100064

Which Practices for Dhyana are recommended by Maharshi Gheranda?

A. Akash Dhyana

B. Sthula Dhyana

C. Chakra Dhyana
D. Jyoti Dhyana

E. Sukshma Dhyana

Choose the correct answer from the options given below:

.A,C,E only
.B,C, D only
.B.D. E only
.A. D, E only
1) 1
(2 2
(3) 3
(4) 4

el tRUS gRI &H gq Mufdfad A S I g ddd T g 2

AL DI AT

B. R/ I
C. 9 9
D. SIfd I

E. Y& &

LS I o B

=

Oy

< fau Y fas el H & Tl Iugdd IR I 989 DI

1[Option ID=5253]
2[Option ID=5254]
3[Option ID=5255]
4[Option ID=5256]

SI. No.65
QBID:1100065




Which yogasanas of Gheranda Sambhita are not mentioned in hatha yoga pradipika:

A. Virasana

B. Guptasana

C. Gomukhasana
D. Matsyasana
E. Utkatasana

Choose the correct answer from the options given below:

.A.D,E only
.B,C,E only
.B.D. E only
. A, C,E only

1) 1
(2) 2
(3) 3
(4) 4

HRUS Wigdl & [uferiad # 9 S I T gaai UeiiteT # Ifciidd 761 6 2
A dRIEA

B. I

C. M@

D. AeITH

E. 3@h o

i fAu T fas el H 9 e IR &1 98 Sifoe:

1.bdd A, D, E
2. $dd B, C,E
3.%ddB,D,E
4. bdd A, C.E

1) 1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=5257]
2[Option ID=5258]
3[Option ID=5259]
4[Option ID=5260]

Sl. No.66
QBID:1100066

What are the physiological concomitants of Vishuddhi Chakra:-

A. Midway between the Scrotum and Anus
B. Centre of Chest

C. Pharyngeal

D. Utero-Vaginal Plexus

E. Laryngeal nerve plexi

Choose the correct answer from the options given below:

. A, Conly
. C, E only
.C,D only
. B, E only
1) 1
2) 2
(3 3

W I =

=




(4) 4

fagfs b & IRR foharars gl Fufafaa A 9 S U g 2

A. GYUIBIY UG el & Hel diidig
B. B[l & A9

C. Uyl

D. TR -OifAe SifereT

E. a4 dfFAl Siid

i fAu T fas el H 9 e IR &1 98 Sifoe:

1. hdd A, C
2. HAdC, E
3.Had C,D
4. $hdd B, E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5261]
2[Option ID=5262]
3[Option ID=5263]
4[Option ID=5264]

Sl. No.67
QBID:1100067

Match List I with List IT

LISTI LISTII
A |[Nididhvasan | Matha
B.  |Atma Nivedan II.  |Hathasiddhi
C. [|Alpadwar III. |Inana Sadhana
D [Naadsphuran IV. |Bhakti

Choose the correct answer from the options given below:

1. A-III, B-IV, C-1, D-1I
2. A-L, B-1I, C-1II, DIV
3. A-1L B-I, C-III, D-IV
4. A-1V, B-1IL, C-II, D-I

1)1
(2) 2
(3) 3
4) 4

) < et R ot AR Y

TqA 1 T 1

A [FicemEd L {5

B [ Hded 1. galtls

C. [HeI gR 1L [{H e

D. HIGEpI0l V. [Hidd

frafafad faeedl & 9 98l ST &1 94 Sifvu -

1. A-III, B-1V, C-I, D-II
2. A-1I B-II, C-1I1. D-IV
3. A-Il, B-1, C-III. D-IV
4. A-IV, B-III, C-II, D-1

(1) 1

) 2

(3) 3




(4) 4

1[Option ID=5265]
2[Option ID=5266]
3[Option ID=5267]
4[Option ID=5268]

Sl. No.68
QBID:1100068

Match List I with List IT

According to Bhagwatgita

LISTI LISTII
A |Asamytaatmna 1. |Sthitprajn
B. [Lokastadanuvartate IT. [Nirveda
C. |Aatmaneyavaatamna Tushtah ITI.  [Shreshtah
Transcending the reception of 7
D. ] Y IV.  [Yogah Dushprapah

Choose the correct answer from the options given below:

1. A-III, B-1, C-II, D-IV
2. A-II, B-III, C-1V, D-1
3. A-IV, B-III. C-I, D-II
4. A-1, B-IV, C-II, D-III

(1) 1

) 2

(3) 3

(4) 4

HITGSHITdT & SFIER gt 11 gl 11 8 gAferd H

T I T I
A PTG L [Ryaug
disedadddd | 1L [Adg
o g;-qudld-l-ﬂ -
5, %ﬂaﬁwﬁalﬁﬂ

w

e IV ?J_TI'[: GEIT:

frafafad fAeedl d O 98l I &1 9ud Sifu -

1. A-II1, B-1, C-1II. D-IV
2. A-IIL B-1II, C-IV, D-1
3. A-IV, B-III, C-I, D-1II
4. A-I, B-IV. C-1I. D-III

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=5269]

2[Option ID=5270]

3[Option ID=5271]
4[Option ID=5272]

Sl. No.69
QBID:1100069




Match List I with List IT

LISTI LISTII
Chittaka Antarmulchi Bhav I |Pratyahara
Chittaka Nischali Bhav II. |Dhyana
"l am Chinmatra

Swaroopha" this thought BL. [Feysms

Satat Anurakti in Par-tattva IV. |Dharna

Ol 0 W=

Choose the correct answer from the options given below:

1. A-L, B-1I, C-IV, D-1II
2. A-I1, B-1II, C-1IV, D-1
3. A-L, B-IV, C-11, D-1II
4. A-III, B-1V, C-, D-II

1) 1

(2) 2

3) 3

(4) 4

Gl 11 Yl 1 9 i eifo
T 1 T 1T

A if'ﬂgﬁ el I [JAER
B[R @I HydiyE | 1L e

T e g,
(3] —e=n I [Aga
7. R-dd H gdq . —

frafafad fAsedl & O 98 S &1 94 Sifve -

1. A-I, B-II, C-IV, D-III
2. A-II, B-III, C-1V, D-1
3. A-I, B-IV, C-1I, D-III
4. A-III, B-1V. C-1, D-II

11

(2) 2

(3) 3

(4) 4

1[Option ID=5273]
2[Option ID=5274]
3[Option ID=5275]
4[Option ID=5276]

Sl. No.70
QBID:1100070

Match List I with List IT

LIST1I LIST IT
A [Ritambhara Tatra Prajna I. [Kaivalva Pada
B. [Kshanprativogi Parinamaprant nigrahvahkramah| II. [Vibhutipada
C. |Kurmanadyam Sthairyam II1. |Sadhanpada
D K ritarthampratinasht amapvanastam tadanya i bt
Sadharantwat

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-1II
2. A-I. B-1I, C-1II. D-IV
3. A-II, B-III, C-IV., D-1
4. A-IIL, B-1V, C-1., D-I1

(1) 1

) 2

(3) 3




(4) 4

Gl 11 Y1 11 9 e eifo
T A I
U

A [BIRRTTE W L
Tt
B. [UROUMHT R I [fayfaare

C. [pHTswi ®Yq | I [@i¥ UG
D. TP IV, [GHIE g7

fofafad fAeedl d O 98l SR &1 94 Sifoe -

1. A-IV, B-1. C-II, D-TIT
2. A-L, B-II, C-III, D-IV
3. A-ILL B-I1I1, C-IV, D-1
4. A-1I1, B-1V, C-1, D-II

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=5277]

2[Option ID=5278]

3[Option ID=5279]
4[Option ID=5280]

Sl. No.71
QBID:1100071

Match List I with List IT in accordance with Hathapradipika

LISTI LISTII
A, |Suryabhedi Pranavam 1.  [Vaat pitaShleshmaharam
B. |Ujavi Pranavam II. [Kamdevo Dwitiyakah
C. |Sitkari Pranayam III. [Vaatdoshahanam
D. |Bhastrika Pranavam IV.  [Dehanal Vivardhanam

Choose the correct answer from the options given below:

1. A-III, B-1V, C-I1, D-1
2. A-I, B-II. C-1V, D-III
3. A-1L, B-1, C-III, D-IV
4, A-IV, B-111, C-I, D-II

(1) 1

(2) 2

(3) 3

(4) 4

a1 11 Yl 1 9 e Sifen
gaUdI®l & AIdR

T I FE I
e T 1 [araftasds &1
EEICi e 1. [®Med] fgdigs:
TRl o L [ardaiey
T AT V. [deFdfdqdq

frgfafad fasmedl d O I8l SR &1 984 SIfu -

U@ e

1. A-III, B-1V, C-II, D-1
2. A-1, B-1I, C-IV, D-IIT
3. A-1l, B-1, C-III, D-IV
A-IV, B-1I1, C-1, D-II

4.




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5281]
2[Option ID=5282]

3[Option ID=5283]
4[Option ID=5284]

Sl. No.72
QBID:1100072

Match List I with List IT

LISTI LISTII
A |Cervical Vertebrae It Five
B. [Thorasic Vertebrae II. |Four
C. |[Lumber Vertebrae III.  |Seven
D |Coccyx Vertebrae IV. |[Twelve

Choose the correct answer from the options given below:

1. A-IL, B-1, C-1II, D-IV
2. A-IlI, B-1, C-1I, D-IV
3. A-IIL B-1V, C-I, D-II
4. A-1, B-1IV, C-II, D-IIT

1) 1
(2) 2
3) 3
(4) 4
Gl 11 Yl 1 9 i eifo
T 1 T 11
A maTa L [gg
B. a&nq? II. IR
C. ﬁ-ﬂ 1. [M1d
D. 3!3'; IV. [@RE

FrofeRad faeed H 9 gel 3Tk &1 90 HIfv :

1. A-II, B-1, C-1II. D-IV
2. A-II1, B-1, C-I1, D-IV
3. A, B-IV. C-1, D-1I
4. A-L. B-1V, C-11. D-IIT

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5285]
2[Option ID=5286]
3[Option ID=5287]
4[Option ID=5288]

Sl. No.73
QBID:1100073




Match List I with List IT

Match the following disciplines that will lead to salvation according to Vivek Chudamani -

LISTI LISTII
A |Dispassion I Viveka
B.  |Qualities of Perfection I Mumukshutva
C. [Discrimination III. [Vairagya
D lqtense .longing for IV. |Shad-Sampat
Liberation

Choose the correct answer from the options given below:

.A-IL B-1. C-IV, D-1II
AL, B-1IL C-IV, D-1
. A-IIL B-1V, C-1, D-II
.A-1, B-IV, C-III, D-I1
(1) 1
(2) 2
(3) 3
(4) 4

= 11 =l 119 A S1fSe | fade ISt & S8R Hig &1 3R d S ared Il & gAfad
DITT;

S S T O R

el 1 T I
ERIGIES] L [fadd
oRguidi & 7T | 1 [qHaE
faHe [II_%’U
EGRRNRCI P Sg—

O [owE]=

fafafad faseal # 9 961 IR &1 997 DI

1. A-II, B-1, C-IV, D-III
2. A-III, B-II, C-1IV, D-1
3. A-IIL B-1V, C-1, D-II
4. A-1, B-IV, C-III, D-II

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=5289]

2[Option ID=5290]

3[Option ID=5291]
4[Option ID=5292]

Sl. No.74
QBID:1100074

Match List I with List IT

LISTI LISTII
Asanas Overstretched Muscles
A [Paschimottanasana 1. |Trapezius
B. |Trikonasan II.  [Intercostal Muscles
¢, [Raiksneing m Oblique Muscle of the
abdomen
D. [Halasana IV, [Hamstrings

Choose the correct answer from the options given below:

1. A-1I, B-1, C-III. D-IV
2. A-1, B-1I, C-III, D-IV
3. A-IV, B-11, C-1, D-III
4. A-1IV, B-1IL C-II. D-I




(1) 1
(2) 2
(3) 3
(4) 4

Gl 11 YT 1 9 e eifsy

11 (Sffaraaned |
T 1 (3 il (ﬂuﬁ)
A [TlgHHEA L [cufeog
B. [F&omad I [gei@ied ugl
C. NIefdhyiarg- . [3e3 @1 Oi4 U=
D [gamad v [efeET

frgfafad fasmedl 3 O 98l S &1 94 Sife -

1. A-1I, B-1, C-III, D-IV
2. A-L, B-1I, C-TII, D-IV
3. A-IV, B-11, C-1, D-III
4. A-IV, B-11, C-II, D-1

(1)1
) 2
3) 3
(4) 4

1[Option ID=5293]
2[Option ID=5294]
3[Option ID=5295]
4[Option ID=5296]

Sl. No.75
QBID:1100075

Match List I with List IT

LISTI LISTII
Pranayvama Effects
A |Surva Bhedana I |Pitta hara
B. [|Ujjavee II.  |Tridosha hara
C.  |Sheetali IIT1.  |Kapha hara
D. [Bhastrika IV. [Vata hara

Choose the correct answer from the options given below:

1. A-III, B-II, C-1IV, D-1
2. A-IV, B-11, C-111, D-1

3. A-L, B-1II, C-II, D-IV

4. A-1V, B-111, C-I, D-II
1
2 2
(3) 3
4) 4

ol 1 91y Gt 11 9 e Siforg

Tl 1 (U | R O (e
A [gd veA 8 EER

B_ [Swrl IL [Fem e

C_ [Ritqe T [h el

D. [HitddT IV, [arde

fofafad fdeedl & O 98l S| &1 9 Sifve -

1. A-IM, B-II, C-1V, D-1
2. A-IV, B-1I, C-11I, D-I
3. AL, B-II, C-II, D-IV
4. A-IV, B-1II. C-I, D-II




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5297]
2[Option ID=5298]

3[Option ID=5299]
4[Option ID=5300]

Sl. No.76
QBID:1100076

Match List I with List IT

LISTI LISTII
Movement Examples of Asna
A |Abduction [ |Garudasana
B. Medial rotation II. |Parvatasana
C.  [Flexion II1. |Paschimottanasana
D. [Extension IV, [|Vajrasana

Choose the correct answer from the options given below:

1. A-II, B-III, C-1V, D-1
2. A-IIL B-1I, C-1I, D-IV
3. A-IL, B-1, C-IV, D-III
4. A-IV, B-1, C-III, D-II

@ 1
() 2
3) 3
@) 4
Gl 1 I1Y gt 11 9 e Siforg
. T 10 (3T &
e | Ve
A. [3fdcH L [TFsmA
B. [Hehadl guiA 1L [gddred
C. [31g=d L. [T
D. [ R V. [GSIH

fafeiRad famedt & O el 3R &1 98- DI ;

.A-IL B-IIL, C-IV, D-1

CA-IIIL B C-1, D-IV

.A-IL B-1. C-IV, D-1II
4. A-IV, B-1, C-III, D-II

1) 1

(2) 2

3) 3

(4) 4

1
2
3

1[Option ID=5301]
2[Option ID=5302]
3[Option ID=5303]
4[Option ID=5304]

Sl. No.77
QBID:1100077




Arya eight fold paths of Buddhist proper sequence of Philosophy is:-

A. Right speech

B. Right resolution
C. Right vision

D. Right livelihood
E. Right action

Choose the correct answer from the options given below:

(4) 4

dlGqd & o SFIfE AFf HIHAT -

A GRS A1

B. URI% Ydhed
C. 9IS =

D. G-I 3ol
E. Y1& &4

Dy

= fau T faedl # ¥ Tad Iugdd 3R &1 98- DI

1. A, D.B,E,C
2. C.B:AE D
3.B.C.D.A.E
1.D.B. C. E;A

1) 1

) 2

(3) 3

(4) 4

1[Option ID=5305]
2[Option ID=5306]
3[Option ID=5307]
4[Option ID=5308]

Sl. No.78
QBID:1100078

According to Shrimad Bhagwadgita, correct sequence of the proponents of Yoga is:

A. Manu

B. Shrikrishna
C. Icchhwaku
D. Vivswaan
E. Rajarshi

Choose the correct answer from the options given below:

LG B EAB
Z2ABCDE
3.B.D, C.AE
4.B,C,D.A.E
1)1
(2) 2




(4) 4

HIRgITag Tidl & IR TRT & Uacdd| PI Tel H o

A ]
B. #i
C. 3&ddH
D. faa@am

E. Y

i< AU 7Y fdpedl H I 968 Iugdd IR &I 99 i

1.C.D,E.A,B
2.8, B.C D E
3.B,D,C,AE
4.B.C,D.A.E
1 1
(2) 2
(3) 3
(4) 4

1[Option ID=5309]
2[Option ID=5310]
3[Option ID=5311]
4[Option ID=5312]

Sl. No.79
QBID:1100079

As per Yogakundali Upanishad which is the sequence of impediments from second to sixth among the ten
impediments in Yoga:-

A. Oversleeping

B. Becoming Sloth

C. Love from yoga practice

D. Pramattata

E. Succeptible to Yoga practice

Choose the correct answer from the options given below:-

el e
Mo P D

0P W
Omnw
W o>
B> m g0

P

1)1
(2) 2
3) 3
(4) 4

AN USUNG & TR 17 & < favl # 3 fgdia 3 @34 fav a6 &1 %A &:

A, SgT&l g oA
B. 3T DAl

C. g g Uy

D. Wl

E. TI¢T1 4R Xjhl

[ -

i AU 7Y fdp el H I 96 Iugdd IR &I 99 DIl

I.LE.D.B.A,€C
2 BAC E D
3.2 B TLE
4.C.E.D. B A




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5313]
2[Option ID=5314]

3[Option ID=5315]
4[Option ID=5316]

Sl. No.80
QBID:1100080

According to Patanjal Yoga Sutra arrange the outcome of 'Niyvamas' in correct sequence:-

A. Samadhisiddhi

B. Saumanasya

C. Anuttam Sukhalabh

D. Indriya Siddhi

E. Ishtadevata Samprayoga

Choose the correct answer from the given below:-

A B CDBDE
B.C.D.EA
L 5 B
D.E, L

[FURN RS-

E A
B.A

=

(1)1
(2) 2
(3) 3
(4) 4

qrdSTel AT P & IR Fd & giRonAf 1 shAds Bifo |

A, THIf fifg
B. U

C. 3 H @y
D. 3= ¥l
E. gl YT

= fou e fadedt & 9 UE IR &1 99 Bifoi:

1.
2.
3,

oowp
monNnw
wmon
>
0w P m

b

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5317]
2[Option ID=5318]

3[Option ID=5319]
4[Option ID=5320]

Sl. No.81
QBID:1100081




Arrange the hierarchy of needs vis-a-vis human personality in the ascending order as per Maslow's theory:-

. Need for affiliation and affection
. Need for Safety

. Need for Self attainment

. Need for Esteem

. Physiological or Biological needs

HO N

Choose the correct answer from the options given below:-

1
2,
3

(1) 1
) 2
(3) 3
(4) 4

HYdl & TR HI-d Hfddid o agerdiaf bl 3RIg! shH H HaiRyd HiRY |

A. Ydgdl Ud We B 3Hahgdhdl
B. L& PI ATl

C. 3T FYig P nagaand

D. Y B AT Dhdl

E. ARING 01 Sifds maegddl

= fau Y faswedi H ¥ 98 Iuged IR 1 989 SIfT:

1.B.A.D.E.C
2. E.BATD C
3.C,E,D,A, B
4.A.D.E B, €

1) 1

() 2

(3) 3

(4) 4

1[Option ID=5321]
2[Option ID=5322]
3[Option ID=5323]
4[Option ID=5324]

Sl. No.82
QBID:1100082

Arrange the emotion or functions in order of Chakras from Mooladhar:-

A. Associated with drowsiness and sleep.

B. Nutrilize poisonous and negative experiences of life.
C. Primitive and deep rooted instincts and fear lie.

D. Refined emotion, feelings of Universal love.

E. Heat, vitality, dynamism, generation and preservation.

Choose the correct answer from the options given below:-

1L.ACB.E D
2.B,A,CD,E
FAAE DR
4.E,A,D,C,B
1)1
(2) 2

3) 3




(4) 4

fAufaRad o o1 gl &1 GarUR Y 9shl & HH § dRyd Hifor:

A. FETEAT IR Fg1 9 dds

B. SilaT & fq9Tdd Td FhRIHD 3IHdl BT ISR B
C. 31fH Td 7T+ Hol Ugfti aUT HY Pl SAT=ihT

D. URSHd HIa, YIHITHD TH DI HIGT

E. 31, S{TSRad, ia=iierdr, Scdft 3R UREul

HId fau T fadedl | 9 ol IR Bl 94 DIfoI:
LA BB
2 B.ACD,E
3.C,A.E.D.B
4.E,A,D,C,B
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=5325]
2[Option ID=5326]
3[Option ID=5327]
4[Option ID=5328]

Sl. No.83
QBID:1100083

Select the correct sequence according to petals present in the chakras from Mooladhara chakra to Sahasrara
Chakra.

A. 2 petals
B. 4 petals
C. 6 petals
D. 12 petals
E. 16 petals

Choose the correct answer from the options given below:-

1.B.C.D.E.A
2.B,C,E,D,A
3.B.A.C.E.D
4.B,A,E,D,C
1) 1
(2) 2
3) 3
(4) 4
=shl H R el & TR HATUR b Y YgHR sh & shH H Hgl 3shH P T
A.2d
B.4Gd
C.6ad
D. 12 Gd
E. 16 &d
1< fau 77T fadbedl H 9 el IR &1 94 Bifor:
1B 6B B, A
2.B.C.E.D.A
3.B,A,C.E.D
4.B,AE D, C




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5329]
2[Option ID=5330]

3[Option ID=5331]
4[Option ID=5332]

Sl. No.84
QBID:1100084

Sleep occurs in the following stages :

A. Reach unconscious state of mind

B. Relaxation of the large muscles. legs, arms, etc.

C. Cutting sense of smell. touch, hear, etc.

D. Relaxation of the smallest muscles in the lips, brows, eyelids

E. Relaxation of smaller muscles, such as those which controls hands fingers, toes.

Choose the correct answer from the options given below:-

1. AACDEB
2B DCE A
3.3JALEDCB
4B, ED,CA
(1)1
) 2
(3) 3
(4) 4

g1 e d | 9 i 9vul A e wy g gfed gidi g

A. 3T AIER I RUfd

B. 951 Ui, TR, qig 3aife o1 fayifa

C. HITU] T2, qUT 3ATfS BT 3HId

D. 3§, YPHe!, TAudD| DI g GIRMl Hi fagifa

E. T SRl ga el & FRifrd Se-arc a9 9kl &1 fayifa

1 fau 77T fadedl # & el IR &1 9g Bifor:
1.A,C,D,E,B
2.B,D,C,E,A
3.AE,D,C,B
4.B,E,D,C,A
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=5333]
2[Option ID=5334]
3[Option ID=5335]
4[Option ID=5336]

Sl. No.85
QBID:1100085




Kindly select the correct sequence of dhauti practice as communicated by Maharshi Gheranda.

A. Danta Mula

B. Kapala-Randhra
C. Antardhauti

D. Vamana Dhauti
E. Danda Dhauti

Choose the correct answer from the options given below:

() 2
3) 3
(4) 4

T TRUS GRT UG GifdT of=I &1 Wl 3 g

A GdHd

B. HU-IY
C. 3fd difa
D. a4 €ifd
E. T3 4ifd

i<l feu Y fashed! # & HEl 3R &1 90 I

e o
conp
o
Lwwo
Zmon
A Y

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5337]
2[Option ID=5338]

3[Option ID=5339]
4[Option ID=5340]

Sl. No.86
QBID:1100086

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Shrut and shrota shall attain Nirveda from all kind of Bhogas.

Reason R: When intellect shall transcend Mohkalila.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R true but R is NOT the correct explanation of A
3. Aiis true but R is false
4. A is false but R is true

1

) 2

(3) 3

(4) 4




19 &1 Y ST Y §: Ub SHUBYU (Assertion A) P &Y H fIRdd § Tl gH 3¥db BRUI (Reason R) & &Y
B

DY A - 4d 3R gId G YT ¥ (W) Hde I Wi gl ST |
DRUIR : 99 §feg HIgDHIAd B YR ST |
SWRIGd HY & 3MTclld H, A <8 7 fdaedl # ¥ 9gl 3wk BT 98 Difog

1.ARREA I E 3IRR A D! gl AR &
2. A 3R R EHI T g, dfhd R. A I Tl ARS8l ©
3. AT g, AfbIR 3 A ¢
4. AT e AfPIRTI T
1 1
() 2
3) 3
4) 4

1[Option ID=5341]
2[Option ID=5342]
3[Option ID=5343]
4[Option ID=5344]

Sl. No.87
QBID:1100087

Given below are two statements:

Statement I: This Saraswati is also referred to as Arundhati by the Scholar of Ancient age.
Statement IT: Saraswati Chalan finds mentioned in Yogkundakaly Upanishad.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4) 4

BIEAERIC AT 1

HUF I UTHH DI & [dgH 58 TRdd @l et H ded gl

DY I1: I HUSHUMYG H TR I1e o &1 H == 1 15 6|

SIRIAT BT & 3MTelte |, =i fed MY fawedi § I et SR &1 997 DIy

. HUYT IR IS ad g |
2. HYF I AR I EHI 3T § |
3 HYTIIT ¢, AP BYTI 3T © |
4. BYTI NI S, AP FYH I I T |
1) 1
(2) 2
3) 3
4) 4

1[Option ID=5345]
2[Option ID=5346]
3[Option ID=5347]
4[Option ID=5348]




Sl. No.88
QBID:1100088

Given below are two statements; one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In the event of Nadis being filled with impurities, there cannot be flowing of Prana in
Madhyamarga (Sushumna)

Reason R: A Saadhak is able to control his prana only when Nadis replete with impurities turn pure.
In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true
1
(2 2
(3) 3
4) 4

1 &1 HUA [AU T §: Ub SHHB YU (Assertion A) b U H [difad 3 Il g3 3Hb DRUI (Reason R) & U
g

S A - Tfe TSl 7a ¥ 41 €3 of al W01 Heqant (9N | Aol ad g |

HRUTR : A U AT ASAT od (e gf 9Tl & aaff qreds Tgfd 9 9 wor &l Hafed & & gad gt
EIGI
SIRIFd HYA & 3Taliep H, A fed ¢ fadweni # I Wel IR &1 997 Doy

1. A 3R R Gl G § 3R R, A Pl U5l IRIAT &
2. A 3R R G I ¢, Afdh R. A I I8l ARS8l ©
3.AI . PR ITI T
4. AT e AfPIRIAE
) 1
() 2
(3) 3
4) 4

1[Option ID=5349]
2[Option ID=5350]
3[Option ID=5351]
4[Option ID=5352]

Sl. No.89
QBID:1100089

Given below are two statements: one is as Assertion A and the other is labelled as Reason R
Assertion A: In Yoga Nidra consciousness is progressively withdrawn and redirect internally towards its source.

Reason R: When consciousness dissociates itself from both the sensory organs and motor organs, contact
between the sensory / motor cortex of the brain and the external world is gradually lost.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1




() 2
(3) 3

(4) 4

19 1 HUA [T T §: U SHIHBYT (Assertion A) P U H [ARIT § Il GIRT Y BRUT (Reason R) & =Y
g

a{f\'-%;:m: ANTHET H <1 1 ITRITR UATER [l Sl 8 3R 28 39 °id &1 3R ARG Rid fhar
EIGI

PHRUIR : 5d A1 WUD| Yddl Td U 371 I [3giford = oidl g dl AT & Yddl / IR Uid=T (Plcad)
3R 9181 ST & A8 WUd R-4R TH gl ST g |

SWRITT HYF & 3Tdid H, A S8 71U [d&H el § § Jol 3R &I 999 Difoig

1.ARREA T § IR R A DI IG5l TR §
2. AR R A T g, AfbTR. A DI T ARAT TS &
3.AYY ©, dfBR A &
4. A . AfPIR I B
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=5353]
2[Option ID=5354]
3[Option ID=5355]
4[Option ID=5356]

Sl. No.90
QBID:1100090

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The demonstration method has a high educational and motivational value in Yoga programme.

Reason R: It upholds the principles of "seeing is believing" and "learning by doing" and it is a mixture of
theoretical and practical teaching.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct
1) 1
(2 2
(3) 3
4) 4




19 A HY ST B : U SHHBYU (Assertion A) & ¥U H [dRdd & I 8T 3HD HRU (Reason R) & &Y
B

ST A - T Hrfeh B Wa=H fafer o sifimRor 3ik 3= e sfayd gidi @ |

HRUIR : 394 "G dlol ol [AYT-R 8" 3R BRI e & 6H H T UId S & Rigid &l Al
21 T7S 8 3R ug Ssifad ud urifiie e &1 a1

SWRIdd HYU & Tl H, - ¢ U faweul # 9 Haiide Iugdad IR o1 =99 DT

1. A 3R R M A § AR R, A D] ! ARAT G
2. A 3R R S I ¢, dfhd R. A Pl Il ARSI 6l &
3.A9 e, PR ITIE
4. AT . WfPIR T ©
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5357]
2[Option ID=5358]
3[Option ID=5359]
4[Option ID=5360]

Sl. No.91
QBID:1100091

Read the following passage carefully and answer the questions.

Yoga is a way of living that can equip human being with requisite potential to prevent oneself from several
environmental challenges.

The fact of the matter is that human beings are being affected with several severe physical ailments which is
primarily ascribed to improper life style. Physical diseases are also referred as ‘Vyadhi’ that causes disorder of
Dosha, Dhatu, Rasa and Karan in body. These imbalances and disorders can be set right only through the
adoption of Yogic life style. For instance, rasa disorder pertains to food intake. The formation of six other Dhatus
are based on this very factor only. We don’t tend to lend a solemn thought to when to eat, what to eat, in what
quantity and for what reason should we consume food. We can well make a novel beginning by espousing an
important process of Yogic life style by improving our habits and Interest. The concept of Hitbhuk, Mitbhuk,
Ritbhuk, Viruddha Ahaar, Poshya Aahar, Medhya Aahar etc. Enshrined in the Indian texts are of enormous
significance and of course deserve a sincere consideration.

fgfarad Teiw & Wayr! O ufed vd SUY Jafd uid Ul & SR aiteid |

N Ud Sila- Qe ¢, [Ty A4 3-d GH1S U 301 919 DR Fabd ¢ | TS AIFd G - Slicd
QRIS T Y gHIfAd 818131 39! 991 9918 © aIvyul Siia-2iclt | méiRe I 1 aariey i Ha1 Sfidl g
TS wTd SRR H 1Y o1, T d 01 fawadr &t (Rl 3@ g1 Sildl & | 36 ddfdd $- &1 S Aiifld
SRl 7 G THd g1 3aTeX0l & dR IR Y favHdl gAR WH-UH I Sof Al g1 3491 3 gHR TRR &1
3 T I3l BT [T S1eTRd ¢ 1 e @, &1 |, faa1 G, &l i Slie R g ool THRAgd e
[G=IR =gl ed & | Sfia el H HMER & Ufd gHRT 3Mad SR 3R &) YURSR gH AT Sitd- 2Adll &
U Hgdyul Wichdl 1 Y=3HId R Yebd ¢ | HRA 1Y il H afvid fgays, fdys, Bday®, [deg 3eR,
U SIER, HeA ER 31le 3= gl faarufia a g

With which type of diseases are human beings are being affected in modern times?

1. Psychosomatic
2. Physical
3. Severe physical disorder
4. Physical Psychological
1) 1
() 2
(3) 3




(4) 4

TS BT HHd THg Y YhR & A7 I YHIfdd gIET 6 2

1. FARmRiR®

2. ARIRSD

3. Sifed ARIRSG
4. IRING AFRS

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=5361]
2[Option ID=5362]
3[Option ID=5363]
4[Option ID=5364]

Sl. No.92
QBID:1100092

Read the following passage carefully and answer the questions.

Yoga is a way of living that can equip human being with requisite potential to prevent oneself from several
environmental challenges.

The fact of the matter is that human beings are being affected with several severe physical ailments which is
primarily ascribed to improper life style. Physical diseases are also referred as ‘Vyadhi’ that causes disorder of
Dosha, Dhatu, Rasa and Karan in body. These imbalances and disorders can be set right only through the
adoption of Yogic life style. For instance, rasa disorder pertains to food intake. The formation of six other Dhatus
are based on this very factor only. We don’t tend to lend a solemn thought to when to eat, what to eat, in what
quantity and for what reason should we consume food. We can well make a novel beginning by espousing an
important process of Yogic life style by improving our habits and Interest. The concept of Hitbhuk, Mitbhuk,
Ritbhuk, Viruddha Ahaar, Poshya Aahar, Medhya Aahar etc. Enshrined in the Indian texts are of enormous
significance and of course deserve a sincere consideration.

FIRIT el &1 At 9 gfed Ud I9Y Haied uid Ui &l IR aiford |

N1 U Silg Qell 8, o8 A 3 IS § 3701 419 DR Hebell ¢ | TS HIFd S 3 Sifcd
QRIS WM Y UHIfad 18I 5 | SUD! 991 Ioig ¢ alvgul sia-=ral | IR 1 &1 i) ft gl §irdl ¢
ST ATd SRR A Y o1d, T d b0l favAdT i RIS I 81 SIdl 3 | 3-8 ddfeld - &1 o A1
STq-TRIell 71 I AHd & 1 FTER0 & dR W I [AYHd] g4R WH-UH 4 So! a8 331 9 gHR TRR &1
3 B Tl BT I o1 § 1 e W, 31 Wi, fba-1 Wi, ol W 31fe IR g ot 1
[G9R 781 B ¢ | SiIa- Adll H TR & Uid GHRT SHTad 3IR SITRST &1 GURBR gH IR Siia- el b
U Hgdyul Wichdl 1 Y=3HId DR Hebd g | HRA Y Rl H afvid fgaye, HdH®, By, [dog 3MMER,
U SIER, Hed SR 31fe 3= g faarufig qu g

A major element among those causing physical ailment is:

1. Haphazard routine
2. Rasa Disorder
3. Work disorder
4. Extremely hectic schedule
1) 1
(2 2
3) 3
(4) 4

AMY & 3P HRUIH Y U YHE HRU

1. &R [eaaf
2. 39 faswar

3, Y f[AuHar

4. AP Tl




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5365]
2[Option ID=5366]

3[Option ID=5367]
4[Option ID=5368]

Sl. No.93
QBID:1100093

Read the following passage carefully and answer the questions.

Yoga is a way of living that can equip human being with requisite potential to prevent oneself from several
environmental challenges.

The fact of the matter is that human beings are being affected with several severe physical ailments which is
primarily ascribed to improper life style. Physical diseases are also referred as ‘Vyadhi’ that causes disorder of
Dosha, Dhatu, Rasa and Karan in body. These imbalances and disorders can be set right only through the
adoption of Yogic life style. For instance, rasa disorder pertains to food intake. The formation of six other Dhatus
are based on this very factor only. We don’t tend to lend a solemn thought to when to eat, what to eat, in what
quantity and for what reason should we consume food. We can well make a novel beginning by espousing an
important process of Yogic life style by improving our habits and Interest. The concept of Hitbhuk, Mitbhuk,
Ritbhuk, Viruddha Ahaar, Poshya Aahar, Medhya Aahar etc. Enshrined in the Indian texts are of enormous
significance and of course deserve a sincere consideration.

frgfafaa meiw &1 wayr O ufed vd SUd Jefid uih vl &1 SR aifeid|

YN U Siia Rl ¢, o H17d 3{-1d GHET3] U 391 919 H Gebdl g | TS HIFd YHEH 31 Sl
QRIS I UHIfAd 81 @I 5 | D! dof Ioig & GIvYul oila-=ial | AR 7T &1 ATy it Bl Sirdl &
ST #1d TR # 1Y o1, 39 d 0 fawadr &t (R4 3@ g1 Sirdi & | 36 ddfdd 3 &1 & Aifis
SiTgRIC 7 9 UHd g1 3aTeR0T & diR WR 39 [AYHdl gHR WH-UH 4 Sof 908l ¢ | 341 U gHR TRR &1
= 5 el 1 AT of1eRd 81 e Wi, 1 Wi, b1 Wi, ol Wi 3ife; R g oot +Rdigd
[G=R 781 ®Xd & | SfiaT Acil H HMER & Uid gHRT 3M1ad 3R eI ) YURSR g AIRTeh Sita- QAell
U Hgdqul Uichdl Bl Y3 HR Fabd ¢ | HRATY | H afvld fgaye®, fay®, Bay®, [dvs 3eR,
U 3TER, Hed 3MER 31fe 3= g faaRufig qu g

The number of Dhatus laid down in the text is:

. Three
. Six

. Seven
. Ten
1) 1

2) 2

3) 3

) 4

eTg el 1 A gardl Wi g

1.dH
2. B
3. 91d
4.9

1) 1

) 2

3) 3

(4) 4

S R

1[Option ID=5369]
2[Option ID=5370]
3[Option ID=5371]
4[Option ID=5372]

Sl. No.94
QBID:1100094




Read the following passage carefully and answer the questions.

Yoga is a way of living that can equip human being with requisite potential to prevent oneself from several
environmental challenges.

The fact of the matter is that human beings are being affected with several severe physical ailments which is
primarily ascribed to improper life style. Physical diseases are also referred as ‘Vyadhi’ that causes disorder of
Dosha, Dhatu, Rasa and Karan in body. These imbalances and disorders can be set right only through the
adoption of Yogic life style. For instance, rasa disorder pertains to food intake. The formation of six other Dhatus
are based on this very factor only. We don’t tend to lend a solemn thought to when to eat, what to eat, in what
quantity and for what reason should we consume food. We can well make a novel beginning by espousing an
important process of Yogic life style by improving our habits and Interest. The concept of Hitbhuk, Mitbhuk,
Ritbhuk, Viruddha Ahaar, Poshya Aahar, Medhya Aahar etc. Enshrined in the Indian texts are of enormous
significance and of course deserve a sincere consideration.

frgfafaa meiw &1 wayr O ufed vd SUd Jefid uih vl &1 SR aifeid|

AN U Sita Rl ¢, o J17d 3{-1d GHET3] U 391 a91d 6 Gebdl g | TS HIFd GHEM 31 Silcd
QRIS T G gHIfAd 818131 39! 991 9978 © aIvyul Siia-T2ielt | 2mdiRe I 1 aarfey Hi Hgl Sfidl &
ST #Td SRR # SN o1, T d v fawadr &t (Rl Ia g1 9irdi & | 3-8 ddfeld - &1 & Aiifd
SR 7 J Hd g1 3aTeXVT & diR R Y [AYHdl gHR W@H-UF 4 Sof G0l ¢ | 341 U gHR TRR &1
=1 : el 1 AT o1eRd 81 e Wi, 1 Wi, b1 Wi, ol Wi 3ife ur g oot 1
[4=R 781 BXd & | SfiaT Acil H HMER & Uid gHRT 3M1ad 3R 3R b1 GURSR g AIlTeh Sita- QAell
Ueh Hgcdqul Uichdl D1 Y3 HR Fabd ¢ | HRATY ]  afold fgaye, fdy®, Bay®, [dvg 3eR,
U ISR, HEH AER 31fe 3= 8l fa=arufig aa gl

A novel beginning of yogic life style is possible:

1. By waking up early
2. By undertaking Jap as meditation as a matter of routine
3. By improving food intake and interest
4. By taking proper sleep
1) 1
(2) 2
(3) 3
(4) 4

liAe Sita- el &1 YB3 AHd ©

1. UId: Sleg] SIFTHR
2. 91 9 e b
3. 3TER AR IR Bl GURDR
4. 9UIE a1 daR

(1)1
() 2
(3) 3
(4) 4

1[Option ID=5373]
2[Option ID=5374]
3[Option ID=5375]
4[Option ID=5376]

Sl. No.95
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Read the following passage carefully and answer the questions.

Yoga is a way of living that can equip human being with requisite potential to prevent oneself from several
environmental challenges.

The fact of the matter is that human beings are being affected with several severe physical ailments which is
primarily ascribed to improper life style. Physical diseases are also referred as ‘Vyadhi’ that causes disorder of
Dosha, Dhatu, Rasa and Karan in body. These imbalances and disorders can be set right only through the
adoption of Yogic life style. For instance, rasa disorder pertains to food intake. The formation of six other Dhatus
are based on this very factor only. We don’t tend to lend a solemn thought to when to eat, what to eat, in what
quantity and for what reason should we consume food. We can well make a novel beginning by espousing an
important process of Yogic life style by improving our habits and Interest. The concept of Hitbhuk, Mitbhuk,
Ritbhuk, Viruddha Ahaar, Poshya Aahar, Medhya Aahar etc. Enshrined in the Indian texts are of enormous
significance and of course deserve a sincere consideration.

fgfarad e &1 ey O ufed vd SUY Jafd uid Ul &1 SR el |

AN U Sita Rl ¢, o J17d 3{-d QT3] U 391 a91d 6 Gebdl g | TS HIFd GHEM 31 Silcd
QRIS T G gHIfAd 818131 39! 991 9978 © aIvyul Siia-T2ielt | 2mdiRe I 1 aarfey Hi Hgl Sfidl &
ST #Td SRR # SN o1, T d v fawadr &t (Rl Ia g1 9irdi & | 3-8 ddfeld - &1 & Aiifd
SR 7 J Hd g1 3aTeXVT & diR R Y [AYHdl gHR W@H-UF 4 Sof G0l ¢ | 341 U gHR TRR &1
=1 : el 1 AT o1eRd 81 e Wi, 1 Wi, b1 Wi, ol Wi 3ife ur g oot 1
[4=R 781 BXd & | SfiaT Acil H HMER & Uid gHRT 3M1ad 3R 3R b1 GURSR g AIlTeh Sita- QAell
Ueh Hgcdqul Uichdl D1 Y3 HR Fabd ¢ | HRATY ]  afold fgaye, fdy®, Bay®, [dvg 3eR,
U ISR, HEH AER 31fe 3= 8l fa=arufig aa gl

As per Indian text which of the following deserve to be followed regarding intake of food?

1. Taking tasty food
2. Hit Bhuk, Mit Bhuk, Rit Bhuk
3. Several times eating in a day
4. only night eating

1) 1

() 2

(3) 3

(4) 4

HRAT Rl H 3R & ufd fderoiig g g:

1. WIEF HISH a1

3. f& ¥ o Yo

4. 1% A Yo

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5377]
2[Option ID=5378]

3[Option ID=5379]
4[Option ID=5380]

Sl. No.96
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Read the following passage carefully and answer the questions.

Yoga is an ancient Indian science which helps to improve overall health and well being. Neuro imaging studies
suggests that the practice of yoga can help in the development of new brain cells and connections. These changes
occur in brain structure as well as functions resulting in improved cognitive skills, such as learning and memory.

Studies using Functional magnetic reasonance Imaging (FMRI) have shown that people who have practiced yoga
regularly demonstrated thicker cerebral cortex and hippo campal regions of the brain than non-Yoga
practitioners.

The Cerebral Cortex is responsible for information processing and hippocampal regions involved in learning and
memory. This suggest that the yoga not only improve the physical activity and also maintain age related mental
processes and cognitive skills.

FRfoRad e &1 S gad el aul 3T Tefed uid uel & I aifoie:

TN U Y HRA (95 § S 989 WA UG SR &I A0 B H eIl Sl ¢ | dia ool
Y (R FHSHT T te)) A Yl eidl 3 b ARTRITY -Tdi-] AT DIfRreb1afi Ud I7db G b fdebry
H IS & UHhdl o | U UG- ARTSS P G941 H Ul & T1U-91Y 9ied ld & orbd Bd ey
YIS DId JUT-3ERTH Ud Wfd fahyd g1 Sild g1

YD a1 SAIG [eI0] (HaRIFTd HUTd IS4 SHIGHT - T TH 3R 3{T5) BT YA PR ared
Yl 9 gg UalRid g o Sl cufad Fafid armward ®d § 3 AR & WReld bicdd Td gl e
&1 AR 9 A dTed |V 1 3fda geg Halkid gu el

RS Bl Y1 WehHUT 5 STRGRI Gidl & aUT fotl dvad & 3ife vd wifd # dier gidi g1 fora
[o1Ud gid ¢ fas URT =T dhad RIS BTG A &l IaAd dl ¢ 3Ud g Aaell ArFre yohHl vd
RIS DIl DT H SR&U PRATE |

What develops in the brain among regular yoga practitioners?

1. Hormones and neurotransmitters
2. Attention and memory
3. Brain cells and connections
4. Muscles and nervous system
1
(2 2
(3) 3
(4) 4

FRITHd T &34 ardl & Jikass § HgfaiRdd J O a1 [dsRid giar g 2

1. G Td dErpraR®
2. AT
3. I PIRABIY T P IS
4. U1 ud dfen o
1) 1
2) 2
3) 3
4) 4

1[Option ID=5381]
2[Option ID=5382]
3[Option ID=5383]
4[Option ID=5384]

Sl. No.97
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Read the following passage carefully and answer the questions.

Yoga is an ancient Indian science which helps to improve overall health and well being. Neuro imaging studies
suggests that the practice of yoga can help in the development of new brain cells and connections. These changes
occur in brain structure as well as functions resulting in improved cognitive skills, such as learning and memory.

Studies using Functional magnetic reasonance Imaging (FMRI) have shown that people who have practiced yoga
regularly demonstrated thicker cerebral cortex and hippo campal regions of the brain than non-Yoga
practitioners.

The Cerebral Cortex is responsible for information processing and hippocampal regions involved in learning and
memory. This suggest that the yoga not only improve the physical activity and also maintain age related mental
processes and cognitive skills.

FRfoRad e &1 S gad el aul 3T Tefed uid uel & I aifoie:

TN U Y HRA (95 § S 989 WA UG SR &I A0 B H eIl Sl ¢ | dia ool
Y (R FHSHT T te)) A Yl eidl 3 b ARTRITY -Tdi-] AT DIfRreb1afi Ud I7db G b fdebry
H IS & UHhdl o | U UG- ARTSS P G941 H Ul & T1U-91Y 9ied ld & orbd Bd ey
YIS DId JUT-3ERTH Ud Wfd fahyd g1 Sild g1

YD a1 SAIG [eI0] (HaRIFTd HUTd IS4 SHIGHT - T TH 3R 3{T5) BT YA PR ared
Yl 9 gg UalRid g o Sl cufad Fafid armward ®d § 3 AR & WReld bicdd Td gl e
&1 AR 9 A dTed |V 1 3fda geg Halkid gu el

IR DI Y1 YHHU B STRar! Gl & 7T Tl e & T Ud Ffey o dfere giar g1 foray
[o1Ud gid ¢ fas URT =T dhad RIS BTG A &l IaAd dl ¢ 3Ud g Aaell ArFre yohHl vd
RIS DIl DT H SR&U PRATE |

Which of the following cognitive skills is improved by yoga practice

1. Anger and Happiness
2. Awareness and Thoughts
3. Action and Relaxation
4. Learning and Memory
1
(2 2
(3) 3
(4) 4

O gR1 Aafafad § 9 &F 91 93HdS I8d S9d gidi g 2

1.5h18 U4 gy
S SHURILCAERE
3. R ud fayifa
4. AT U Fid

1) 1

() 2

(3) 3

4) 4

1[Option ID=5385]
2[Option ID=5386]
3[Option ID=5387]
4[Option ID=5388]

Sl. No.98
QBID:1100098




Read the following passage carefully and answer the questions.

Yoga is an ancient Indian science which helps to improve overall health and well being. Neuro imaging studies
suggests that the practice of yoga can help in the development of new brain cells and connections. These changes
occur in brain structure as well as functions resulting in improved cognitive skills, such as learning and memory.

Studies using Functional magnetic reasonance Imaging (FMRI) have shown that people who have practiced yoga
regularly demonstrated thicker cerebral cortex and hippo campal regions of the brain than non-Yoga
practitioners.

The Cerebral Cortex is responsible for information processing and hippocampal regions involved in learning and
memory. This suggest that the yoga not only improve the physical activity and also maintain age related mental
processes and cognitive skills.

FRfoRad e &1 S gad el aul 3T Tefed uid uel & I aifoie:

TN U Y HRA (95 § S 989 WA UG SR &I A0 B H eIl Sl ¢ | dia ool
Y (R FHSHT T te)) A Yl eidl 3 b ARTRITY -Tdi-] AT DIfRreb1afi Ud I7db G b fdebry
H IS & UHhdl o | U UG- ARTSS P G941 H Ul & T1U-91Y 9ied ld & orbd Bd ey
YIS DId JUT-3ERTH Ud Wfd fahyd g1 Sild g1

YD a1 SAIG [eI0] (HaRIFTd HUTd IS4 SHIGHT - T TH 3R 3{T5) BT YA PR ared
Yl 9 gg UalRid g o Sl cufad Fafid armward ®d § 3 AR & WReld bicdd Td gl e
&1 AR 9 A dTed |V 1 3fda geg Halkid gu el

RS Bl Y1 WehHUT 5 STRGRI Gidl & aUT fotl dvad & 3ife vd wifd # dier gidi g1 fora
[o1Ud gid ¢ fas URT =T dhad RIS BTG A &l IaAd dl ¢ 3Ud g Aaell ArFre yohHl vd
RIS DIl DT H SR&U PRATE |

FMRI can be used to investigate:-

1. Physical and Mental activity
2. Cerebral Cortex and Hippocampus
3. Blood and Molecule
4. Cells and Tissues
1
(2 2
(3) 3
(4) 4

fgfolad o O fouet Sira S Uh T 3R TS &1 Y1 fddr o 9ahdi ¢ 2

1. YRR Ud AARS [Hady
2. A DIy Ud fgmt Hryg

3. T U4 1]
4. BIRBI UF Jdd
1) 1
) 2
(3) 3
(4) 4

1[Option ID=5389]
2[Option ID=5390]
3[Option ID=5391]
4[Option ID=5392]

Sl. No.99
QBID:1100099




Read the following passage carefully and answer the questions.

Yoga is an ancient Indian science which helps to improve overall health and well being. Neuro imaging studies
suggests that the practice of yoga can help in the development of new brain cells and connections. These changes
occur in brain structure as well as functions resulting in improved cognitive skills, such as learning and memory.

Studies using Functional magnetic reasonance Imaging (FMRI) have shown that people who have practiced yoga
regularly demonstrated thicker cerebral cortex and hippo campal regions of the brain than non-Yoga
practitioners.

The Cerebral Cortex is responsible for information processing and hippocampal regions involved in learning and
memory. This suggest that the yoga not only improve the physical activity and also maintain age related mental
processes and cognitive skills.

FRfoRad e &1 S gad el aul 3T Tefed uid uel & I aifoie:

TN U Y HRA (95 § S 989 WA UG SR &I A0 B H eIl Sl ¢ | dia ool
Y (R FHSHT T te)) A Yl eidl 3 b ARTRITY -Tdi-] AT DIfRreb1afi Ud I7db G b fdebry
H IS & UHhdl o | U UG- ARTSS P G941 H Ul & T1U-91Y 9ied ld & orbd Bd ey
YIS DId JUT-3ERTH Ud Wfd fahyd g1 Sild g1

YD a1 SAIG [eI0] (HaRIFTd HUTd IS4 SHIGHT - T TH 3R 3{T5) BT YA PR ared
Yl 9 gg UalRid g o Sl cufad Fafid armward ®d § 3 AR & WReld bicdd Td gl e
&1 AR 9 A dTed |V 1 3fda geg Halkid gu el

RS Bl Y1 WehHUT 5 STRGRI Gidl & aUT fotl dvad & 3ife vd wifd # dier gidi g1 fora
[o1Ud gid ¢ fas URT =T dhad RIS BTG A &l IaAd dl ¢ 3Ud g Aaell ArFre yohHl vd
RIS DIl DT H SR&U PRATE |

Which part of the brain shows change for the regular Yoga practitioners:-

1. Thalamic and Limbic system
2. Hippocampus and Midbrain
3. Cerebral cortex and Hippocampus
4. Cerebral Cortex and Brain Stem
1
2 2
(3 3
4 4

fafia armare Fatel & afkre & FafaRad 7 9 fea yrrd oRad giare 2

1. 99t 2R fafes 0

2. fewl Sy SR Heg AR
3. WS PHlcay 3R gl iy
4. T Dleay 3R AT TWH

1) 1
(2) 2
3) 3
4) 4
1[Option ID=5393]
2[Option ID=5394]

3[Option ID=5395]
4[Option ID=5396]

Sl. No.100
QBID:1100100




Read the following passage carefully and answer the questions.

Yoga is an ancient Indian science which helps to improve overall health and well being. Neuro imaging studies
suggests that the practice of yoga can help in the development of new brain cells and connections. These changes
occur in brain structure as well as functions resulting in improved cognitive skills, such as learning and memory.

Studies using Functional magnetic reasonance Imaging (FMRI) have shown that people who have practiced yoga
regularly demonstrated thicker cerebral cortex and hippo campal regions of the brain than non-Yoga
practitioners.

The Cerebral Cortex is responsible for information processing and hippocampal regions involved in learning and
memory. This suggest that the yoga not only improve the physical activity and also maintain age related mental
processes and cognitive skills.

FRfoRad e &1 S gad el aul 3T Tefed uid uel & I aifoie:

TN U Y HRA (95 § S 989 WA UG SR &I A0 B H eIl Sl ¢ | dia ool
Y (R FHSHT T te)) A Yl eidl 3 b ARTRITY -Tdi-] AT DIfRreb1afi Ud I7db G b fdebry
H IS & UHhdl o | U UG- ARTSS P G941 H Ul & T1U-91Y 9ied ld & orbd Bd ey
YIS DId JUT-3ERTH Ud Wfd fahyd g1 Sild g1

YD a1 SAIG [eI0] (HaRIFTd HUTd IS4 SHIGHT - T TH 3R 3{T5) BT YA PR ared
Yl 9 gg UalRid g o Sl cufad Fafid armward ®d § 3 AR & WReld bicdd Td gl e
&1 AR 9 A dTed |V 1 3fda geg Halkid gu el

RS Bl Y1 WehHUT 5 STRGRI Gidl & aUT fotl dvad & 3ife vd wifd # dier gidi g1 fora
[o1Ud gid ¢ fas URT =T dhad RIS BTG A &l IaAd dl ¢ 3Ud g Aaell ArFre yohHl vd
RIS DIl DT H SR&U PRATE |

Cerebral Cortex is responsible for:-

1. Information Processing
2. Attention

3. Language

4. Memory

(4) 4

Weid oy FyfaRad # 9 fod g IRarli g 2

1. GET YshHTT
2. e

3. HIST
4.9
1) 1

() 2

(3) 3

4) 4

1[Option ID=5397]
2[Option ID=5398]
3[Option ID=5399]
4[Option ID=5400]

Sl. No.101
QBID:3201001




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

= 31 7T dTfad] § URA & B¢ e A-F 1 [Ud B¢ APTHd 9!, Tuaias, fodl, Ja!, dafd,
TS 3MIe! SR gaileTs H R YouT (M) 3R Afgarsil (sl w1 UeiRid ®1 173 § | difeid] & 3fibs| &
TR IR U DI IR ST -

s H HHATNYT BT AgR-aR faawo

ECd THatens | oAt el dtofdt | emseidt | gtz
ml M [P M [F [M [F [M [F M [F [M |F
A 553 |24 673 116 [433 [500 [534 [454 256 235 |556 357
B 254|456 [346 256 366 |345 [478 [285 |256 166 |346 |287
C 157 388|346 456 124 [456 [235 235 |574 |599 589 [190
D 114|378 124 [235 [235 |88 |255 175 |[324 198 180 |256
E 234|120 241 [156 350 |234 [124 [165 124 334 |155 |18l
F 353|325 [348 174 [399 [439 [358 [234 125 |235 |278 |192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1173 ;173
2.173 =177
% A725077
4.172 1175

(1) 1
) 2
(3) 3
(4) 4

QIEY E H U133, bl SR TS 3ldl H FHY SRR Algclsfl i W1 iR JoN] o] W1 1 3FUId R1 6 2

1173 5175
LI 17 . S T
3. 1725 177
4. 1722175

(1)1

() 2

(3) 3

(4) 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
QBID:3201002




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

1) 1

(2) 2

(3) 3

(4) 4

Qg B H Hdl dh1 H [AeTeh? B Aigarsil &1 Tegn Youi @1 YT o1 TRTHIT fdod=T Wia=Td ¢ 2

(1)1
) 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]

Sl. No.103
QBID:3201003




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The number of females working in UCO from City-A is approximately % more than the number of
females working in PNB from the same city.

1) 1
(2) 2
(3) 3
(4) 4

ER A H T o H Hrid Afgarsil H1 weam 34l WeR # Ui« # H1ad Afgarsii B T d TTHTT
fara Ufc=Te 3ifee g 2

1.27
2.182%
3.18

.
T
tad
—
e
o~

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8609]
2[Option ID=8610]

3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
QBID:3201004




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The total number of females working across all the six cities together is more than 1700 in:

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1) 1
() 2
(3) 3
(4) 4

Tt 38 el & Sk Afgarel ot Te Fafatad 7 9 feae 1700 T 319w g 2

1. 94 o5 dbl H
2. Bid i sl |
3. 3@ IR dHi A
4. Bl al dbl H

1) 1

(2) 2

(3) 3

) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
QBID:3201005




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
TR TR U DI IR ST -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
WB?l M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

1. 1022
2.1214
3. 1198
4. 1084

1) 1

(2) 2

(3) 3

(4) 4

QER C & Gl B dbl H HIRT oY @1 U1 3R e D & GHI §¢ dobl H SRR JouI &1 W1 & |9
B R [Ha1g 2

1. 1022
2.1214
3.1198
4.1084

1

) 2

(3) 3

4 4

1[Option ID=8617]
2[Option ID=8618]
3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
QBID:3201006




Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

2. Formal school relationships that focus solely on skills

3. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

(2) 2

(3) 3

(4) 4

faemeif 37k e qd 31 SR URYA B ¢ 3R W THY TP S I6d ¢ 9d 36 YHAIAIGHl Bl 3=
qly gldl g | FafeiRad | 9 a1 faanfial oiR Rl <l § W-uHHidesdl H dfa 78l ddi g 2

1. BEAYR G D | i e
2. T DI TR bisd A= ey ddy
3. Sife I W HIAT ¥ Weradl
4. GRAY H GO Y 3AlYD 3Uemy
1) 1
() 2
3) 3
) 4

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
QBID:3201007

Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
1
(2 2
(3) 3
(4) 4

Y& SR Hdiitih Sugdd gidl ¢ oid A& -

1. gfard HIee ST e ed g 1
2. 31g+ faenfial 9 nifordta Tt g9 ® & Il Bl AU HRAA G |
3. U+ faeniel &1 el H# IAD] FofidADdl & URDR & oy HieHIfgd HId & |
4. HiATTHS faaRur 29 9igd § |
& 2
(3) 3
(4) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
QBID:3201008




Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)

R — I Ccncr‘_ate. experience and reflective
observation

B [Biiremes n Concr_ete experience and active
expernimentation

& Wessaies . Abs‘frgcr conc eptualization and Active
experimentation

D. |k v |A bstract conceptualization and reflective)

observation

1. A-III, B-1V, C-IL, D-I
2. A-IIL, B-1, C-1V, D-II
3. A-IV, B-1, C-11, D-IIT
4. A-1IV, B-I. C-1IL. D-1II

Choose the correct answer from the options given below:

1) 1

2) 2

(3) 3

4) 4

Gl 11 g=l 1 9 fAar Sifse

1 1 (AT T T 11 (SATAATH SHTHwa)

. o %ﬂ%ﬁ?ﬁﬂ%
. |ER® I mﬁwﬁﬁwm
C  [EaS i, [T SremeiR
D [OHMEeS v, &mﬁﬁfsi;ﬁiwaiz SR

fofeiRad Aol & 9 Iel 3R &7 994 BIoY ;

.A-IL B-1IV, C-11, D-1
CA-IITL B-1L C-IV, D-I1
.A-IV. B-1, C-II. D-1II
4. A-IV, B-1, C-III, D-III
(1)1
(2) 2
3) 3
(4) 4

|
2
3

1[Option ID=8629]
2[Option ID=8630]
3[Option ID=8631]
4[Option ID=8632]

Sl. No.109
QBID:3201009




Match List I with List IT

LIST I (Type of memory) LIST II (Meaning)
: Memory of remembering the route to
A, |Semantic L At i =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self. vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Sl v Memory of life e\'_enrs that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1V, C-11, D-1
2. A-I1, B-1V, C-111, D-1
3. A-III, B-1I, C-1IV, D-1
4. A-1I1. B-1, C-II, D-IV

1) 1
2) 2
3) 3
(4) 4
Gl 11 g=l 1 9 fAar Sifse
e 1 (Fid T TPR) T 11 (3%
A ki ¢ gmﬁcqfﬁmnﬁwaﬂﬁaﬁ
g Ffd =1 AT Shd @, AHTd
B. [SUBIHES I |HUH (e 3udl UgaH & a1y |
TrTe Bl &
C. [srEmuE® Il [ 9E &1 S
. |S1TOts Ty 31YET HTUd HEUH
D. [ . - geAr & |

frofafad fasedl & 9 98l SR &1 994 Sifu -

1. A-IIT, B-1V, C-I1, D-I
2. A-TI, B-IV, C-1II, D-1
3. A-IIT, B-II, C-IV, D-I
4. A-II1, B-1, C-II. D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

(2) 2

(3) 3

4) 4




gfe 31 faefal & S Y= &1 Jedih 1 dlgd & 3R 3= dabld Uiy ¢A1died 8. of o g o
3 frg Qi dmR &1 g1 2

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

1.AD.B.E.C
2.D,A.B.E,C
3.B,D,A,C,E
4, A,B,D,C.E
(1) 1
(2) 2
(3) 3
(4) 4

FafcRad ey Haeed] &l gl 3hH H SaRUd HIT;
A. QY TISHET TR BT

B. s Uhd HIl

c. frd Asmra

D. Y UH/35 24l BT (=Y

E. 3ib sl Pl [d2dyur

1< fau Y fa el H ¥ T8 Iugdd IR b1 99 DIfT:

1.AD,B,E,C
2.0, A,B.E. €
3.B.D,A,C.E
4 A,B,D,C.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
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In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

. Exceedance
. Outlier

. Extreme

. Outsider
1) 1

(2) 2

3) 3

4) 4

U 3ol & =4 H [l 3 U Bl ol AY Hidbs| &I da-l H I1 dl 9gd dodl dgd DIcT 6, bedldl o
|

W I =

=

i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
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In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A. B and C only
2.B, Cand D only
3.C,D and E only
4. A, Cand D only

1) 1

() 2

(3) 3

(4) 4




HIarg Fdeon # FyfaRad # 9 SH-911 9 Uld=u- 48 ¢ 7

A. Tod! T TR & @1 U gl LR b1 WaRT 6d gi lifds 3 I HIF Ub gl HheR © |
B. 3% ITRaldIsl @I dglid sHd Ugd (ID) Bl Uil ¢ |

C. $XIC YAIadT S1ERaT b1 Ueh Ydiug! Uide=igld © |

D. HITeATZ" Hd&ull P T ufd=- hH 9xi § |

E. PR A3 A&l &I Wideied ddl g |

il faU 7Y fdpedl H I 9ad Iugdd IR &I 94 DI

1.HAd A, B. C

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]
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Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
(2) 2
(3) 3
(4) 4

fohell U sfiheT TH=1a BT {19l -5 H U fhys TaF g 2

1. 39 s BT UdH agdid

2. I Hibsl Bl fgdid aqdad
3. 39 Hibsl BI gl Iqdd

4. 3K bl bl 3fd: gadd R
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

SI. No.115
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Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement II: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement T and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
1) 1

2) 2

3) 3

4) 4

fH APy RUU S

TYA 1 : Yoguae P Hifd, TiRSTHTT THIYTO <=1 & Tgad 3Ual 3d sid & Jaeif i Sfid 1 g |
DY I : FHIHTU] BT WD 339 YN 6 |

IWRIad HYA & 3fdiep |, Fd fau MU [dwedi # Ul IR &1 98- Hifore:

1. FUTIR I SHI Tal § |
2. FYF IR I SHI A § |
3. HYF 1 el 6, AP FUA I ITAd & |
4. YT 170d g, AfbT AT I TR § |

1) 1
2) 2
3) 3
(4) 4

LS I S I

&=

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
QBID:3201016

In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1
(2 2
(3) 3
(4) 4

QTG H, HUNUT &1 SR SRl 9 J 9 59 & 919 & © 9§ [Ha1 Sar g 2

B GUACEISE

PRIRICARE |

3. 3{dY BRI B UicTed DAl
4. SdT D1 faHd BT

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]
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A good part of communication in human society is through:

1. Para language
2. Infographics
3. Formal language
4. Hidden emotions
1
(2 2
(3) 3
(4) 4

HAHd THS H HUY0 &1 U Jol e MY d 9 fh9 b A Y gidi 6 2

1. YRTHMYT

2. G - 3T (SBIThad)
3. SO HINT
4. U=5e HId

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8665]

2[Option ID=8666]

3[Option ID=8667]
4[Option ID=8668]
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Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.A, CandE only
4.C.D and E only

1

(2 2

(3) 3

(4) 4




gdf aRvied I i Uel &l Siasiddi did i+ 9 fHdifdd dad GUy & ek g 2
A. FJcd BT 3HId

B. 3gH hi-id Aliare

C. HfH®T

D. efigd

E. 2l

4 fAu T fahegl § 9 gl SR &1 98 Hifu :

1.$hdd A, B, C
2. ®dd B, C,D
3.hdd A, C.E
4.%dd C, D, E

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=8669]
2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]
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Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
(2) 2
(3) 3
4 4

BIEKAEAIC A 1

DY 1 : YUNUT b SAG HISA DI TR ST IR0 [HebTa- o fe1e fhar Sirar g |
DY 11 : YUY b1 1Y Hisd fgdia 9% g & SR 3119 U=R &1 3R o7 |
S BYF &b 3Mcld H, i fT T fdb el # Tel TR BT 98 Piforg:

1. FUFISR A TG |

2. U IR I GH A § |

3. FUTITA G, AP YT 3T ¢ |
4. FYFI 3T 8, dibd YT M I ¢ |

(1) 1
) 2

L I o B

d=




3) 3
(4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]
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Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

TR A FART T E:
DY 1 : U GUYUT Afde, F2rad 3R gRUTHFdl gidrg |
DY 11 : SHTRAPIY T Ao H SATTD SATYTIRATE FU0T AT HANT 3R GR&T DI 9161 ol 6|

IURIFd HUA P 3fTclld H, i fGT MU [dhedi # TGl IR D1 I8 DIfOIT:

1. HYTI RIS I &
2. HYTI AR I SH e &
3. HYTIII g, dfbd HYA I AT ©
4. PYTI A ¢, AP YT I T ©
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8677]
2[Option ID=8678]

3[Option ID=8679]
4[Option ID=8680]
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Find the next term in the series given below:
o815, 1357

.18

i

ad [mD

B 7
(1)1
(2) 2
(3) 3
(4) 4

.




1= <Y 778 el H BRI Ug J1d BIIT:

-7,-5,-1,5,13,7?

L I

I

L)

(1)1

) 2

(3) 3

(4) 4

1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]

Sl. No.122
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N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of

11

D D =

.

212
1
(2 2
(3) 3
4 4

N e febdl b i 12 oAl H qrI R "ebdl ¢ | Il 1 1 (N+6) oalerrall gRT 8 ol H YR favan i epell
© | N T HIF J1d SIS

11

S S

.

12

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8685]
2[Option ID=8686]

3[Option ID=8687]
4[Option ID=8688]
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A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

.40, 10
. 30,20
35,15
.36, 14
(1) 1
(2) 2
(3) 3
(4) 4

b b =

.




U TR & Ui 25 U9 3R 50 T & 50 [gdi ®i [HaHR 15 390 g | FFRIRT & 919 A 25 U9 3R 50
T & fpaa fRads ¢ -

.40, 10
. 30,20
.35 15
.36, 14
1)1
2) 2
(3) 3
(4) 4

S R S

B

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

= B =

.

VSIS
=]

)

(1)1
) 2
(3) 3
(4) 4

i =i 1 ged 25% d¢ SIdl 6, dl 39D SUHNT H {bd- Hid=Id S HHI DI O o 39 Wy H df 7
al

25%
30%
207
. 35%
1 1
) 2
(3) 3
(4) 4

L S R

B

1[Option ID=8693]
2[Option ID=8694]
3[Option ID=8695]
4[Option ID=8696]
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A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 kim West
3. 3 km, West
4. 3 km, North

1) 1

(2) 2

(3) 3

4) 4




Uh Afgdl 39 Didiol oild IHY IR P 3R 20 fHt 3R R 15 fHH 9fdm &Y 3R FR gardi g | 9g
GI&0T B SR il § 3R 10 fbel &1 g T Bl & | 3F 98 Ud DI R A1 ¢ 3R 12 [HH Fadi g |
Wzﬂ;&@ﬁ@?ﬁ@?ﬂ%aﬁmoﬁﬁwaﬂﬁ% | A U SR fd-g J fba- g 3R [y
feamd g2

.5 Tobul, <l
.5 et ufem
.3 Tl ulgm
3 el 3R

(1) 1
(2) 2
3) 3
(4) 4

L R S R

.

1[Option ID=8697]
2[Option ID=8698]
3[Option ID=8699]
4[Option ID=8700]
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"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution." Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
(1

(2 2

(3) 3

(4) 4

"IgiaRuIfdE AT 39l & Tarl & aR A FRAR a1d R 3¢ ¢ | gHigav, fdegd Wdwrs ¢, 9re ag fadl
Hl Hid 9 U gidl 81 | U oy dobs| divT [dggd 3drd &l gHel & IR id ¢ | 374 9 SHfebig

G SYTaY & HRUMFfed gIdl & . 31 ge-T1adl Dl Akl ol ebdl ¢ Afe AT e Frae-t axd- i
SRIFd HYTH B - T ddb alv g ?

1. 38 gl _
2. haagad el (Rl i)
3. UMYl () b &N
4. ffa=Tid ARSI
1) 1
() 2
(3) 3
4) 4

I N

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]

Sl. No.127
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
() 2




3) 3
4) 4

FaiaRad @ U SF-91 HUH "Bis &l TR 761 o U dlivd U I A g 2

1. 5% vl TR T € |
2. % TR-Uel THYRI € |
3. Pls THYRI Tl 81 © |
4. g TR-Ual TAUR |

(1)1
() 2
(3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.

2. Some mammals are birds.
3. All mammals are birds.

. Some birds are mammals.
11

(2) 2

(3) 3

4 4

"SBIg T el TE & By 9 Frafafad & 9 o fawdia 8

1. DTS gaf T TS ¢ |
2. O WAYRIUei g |

3. 9 YR Uel § |
4. 9 Ul WA T |
&

(3) 3

4) 4

g

1[Option ID=8709]
2[Option ID=8710]
3[Option ID=8711]
4[Option ID=8712]
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
11
(2) 2
3) 3
) 4




e HUF "He SR U&H g 3 & w4 1 [¢a1 741 8 | dd FHfiRdd BI-81 Y dicblicid ©4 ¥ 3y
& &0 H AT fa1 o i g 2

1. PB Ui 3sd g |
2. g of-IaR Yajl 7gi g
3. PIg S Y&l ol g |
4. 9y SFAR U T |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8713]

2[Option ID=8714]

3[Option ID=8715]
4[Option ID=8716]
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4) 4

BIERACAIC AR U
DY I: T (1) & HRAI ARG Ad b 3UR WL & (e1g Hi 3T fohar ot ghar g |

DY 11 : TR HA & AR W & [ SHIA T Ub AT WidhaT ¢ SR Uraie & (4 @Rl &
HIPIRD HYU DI GGl el gldl ¢ |

JWRIGd HY & 3Tdid |, A faU MU g el # gad I9gad IR DI 99 Difog ;

1. HYT IR I SH 98l § |
2. HYT IR M EH Tad g |
3. YT RN €. Al PUT TG E |
4. HYT 1A g, dich- YT 11 el g |
1) 1
() 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]
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is a set of rules that must be obeyed when transferring files across the Internet.

1. HTML
2. URL
3.HTTP
. ISP

1) 1

(2) 2

3) 3

(4) 4

el &1 U qg= g forgeh] e IR higdl & RIMH-R H fHardd: ure a1 S =1fgu |

B

1. @A
2.9 3R Td
3w ddl
4. 3 ug di

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

1

(2) 2

(3 3

(4) 4

fordl 3= afekd & dob-Hafid faarull & HYCYde U B g SHd ol DI B H hgdldl 6 ?

1. TopfRiT

WIfET

f
4. feafaim

1) 1

(2) 2

3) 3

4) 4

[V O]

1[Option ID=8725]
2[Option ID=8726]
3[Option ID=8727]
4[Option ID=8728]
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

. A and B only
. Aand C only
.Band C only
.A,Band C
(1

(2 2

(3) 3

(4) 4

émc‘%? B H TS (3P SI3d (HDDs) 13Ul Wilds T S13d (SSDs) @ WIRT & fgfaRad &1 -4
AHE 2

A. HDD®! 3{U&T SSD e/ geab! gicll § |
B. HDD®! U SSD H & fdggd Wud gldi & |
C. HDDs &1 ga-I1H SSDs HI! Blall & diidh 398 iy el HRT -Tg! Uil Sidl g |

(e

i<l AU 7Y fdpedl | I 98 Iugdd IR &I 991 DI :

1. $ad A 3R B
2. Had A 3R C
3. HAAB 3R C
4.A.B3RC

1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]
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Match List I with List IT

LIST I (Statement) %iﬁg
A [Base-10 (denary) value of the binarv number: 100000 I |100
[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I |14

seconds to download an 80 megabvte file 7
1A music file 1s 80 megabytes in size and MP3 file
icompression reduces the size of a music file by 90%. m ko
" |The number of MP3 files of the size after compression :
that can be stored on an 800 MB CD
[What 1s the denary (base-10) equivalent to the .

: e ) V. |8
hexadecimal digit E?

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D-TII

2. A-IIL, B-1V, C-I, D-II

3. A-L, B-1I, C-IV, D-III

4. A-1IL. B-1. C-IV, D-1II
1)1




) 2
3) 3
(4) 4

ol 11 YT 1 9 A eifo

T EE) = I @)
A [fe3Tem=T T - 100000 DT 89 - 10 (GURNTE | L [100
S-CX-c Wl Werdl 80 HT fae 2 Uid Y s &f
B. [S3als T FAIRT $L 51 U so WiMalge @1 | 1L [14
BISd ®l SI3TaIS B Hf Hal GHY T |
T GAiid BI3d TR | 80 HERE @i g 3R
MP3 TISd Udd- T BISe @ 90% ddh ®H B
C. [GaT 81 39 PR 3! a1 9 Ot 3 Bigal & m 32
gwﬁumsmmﬁﬁ%ﬁw%ﬂmww
HISTYRT 3 E b GHed GRNUR] (36-10) T&T1 Wk

i faU 71U A el | § Ul 3R &I 99 HIfu :

1. A-II, B-1V, C-1. D-III
2. A-II1, B-1IV, C-I, D-1I
3. A-1 B-II, C-IV. D-III
4. A-I11, B-1, C-1IV, D-II

1) 1

) 2

(3) 3

(4) 4

1[Option ID=8733]
2[Option ID=8734]
3[Option ID=8735]
4[Option ID=8736]
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Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4




BIEECAIC AR U
DY 1 : Uiot 3R SIS TSI TUGU Yfekidl (IUHRUM) & Y H 9 9l g |

@Y I : ooR fUiex U8 319 2y 9 &4 gid § IS 31&R1 & A1 8 PHTS W Wigl $1 Bidh §al o1
fSSdId B dld JIoid aid © |

IR HUA & Alip H, Fid feU U f[dhedi § 9 el IR Bl 994 HIfoT
1. PYTISR IS 9d g |

2. HYF I AR I EH 3T § |
3. HYT I g, dfbd BYT I 3 TI © |
4 YT AT §, AT HYT I TAE |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8737]
2[Option ID=8738]

3[Option ID=8739]
4[Option ID=8740]
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement II : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.
1) 1
(2 2
(3) 3
4) 4

TR FARTIUE:

DY : Gedl 1 31ST URd b GRAUT & U Hifead WeTbld SfTeide 1 qaiarul Hatl e Y I
THHTA BRR ¢ o1 134 & YdDH A B P g |

PUT I : TR HIR AL TR R FeiRa Frer (TSRl TaR S, Uftd o3 R 3RE0 o3 8
it eii gR1 Wiesd Faa<did |AMUd Hd1 @ |

IR HUA P 3HTcdlld I, i fGU MU [dhed] & TE IR D1 98 DIfoIe:

1. BYTIIR IS I © |
2. HYFI AR I SHI 3T § |
3. HYT I 8, AP PUYTII 3T E |
4 FYT AT 5, AP HYT 1 T © |
1) 1
2) 2
(3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement IT : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

3) 3

4 4

BIERACAIC AR U

DY 1 : AT [degd YT rydT 3= Il ot wRiia yonferal I sfg:@ra, dardig uguor sl a1 oid
TaTE B 51 & a1 H gRad dR a1 |

DY 11 : A Wl Tl SHTTe 3R S Udlg! woyl I giRafdd $ drdig Ugyu Hdi g |

JWRIEKT HYH & 3ATdid |, i faU 70 fadhedi § Tl IR &1 999 Difoid:

1. BYTIIR IS 9T © |
2. HYFI AR I SH 3T g |
3. HYT I o, Al YT I 3T ¢ |
4. FYTI A . APAFYT N TAE |
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

. Chlorofluorocarbons

. Hydro chlorofluorocarbons
. Carbon tetrachloride

. Halons

11

(2) 2

(3) 3

4) 4

fafeiad o 9 foog gard &t fieli sfgart GHIedl JIAdH ¢ 2

1. FARTFRIbTe
2. BIS S IAIRIURIBTa
3. BT CClHIRIS S

4. 509

W I =

=




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

.A.Band C only
.B, C and D only
.A.Band D only
.A.Dand E only

1) 1
(2) 2
(3) 3
(4) 4

yaT ®Ql & G &

A. GR-YNT &7 (BT URITGS de)
B. feATad &4

C. STl

D. FEge (Fdsavr) &

E. Fed &I 0]

i fAu T Aol H 9 gl SR &1 98- Sifu :

1. Fad A, B, 3R C
2. $Had B, C 3R D
3. Hdd A, B3R D
4. A A, D 3R E

1) 1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]
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International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4, France

11

(2) 2




3) 3
(4) 4

STRIPIY HR e (S1STHY) BT HEaTed afaiad § 9 ogi iR g -

1. TG I SHALIDT
2. RgcoRds
3. HRd
4.1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8757]

2[Option ID=8758]

3[Option ID=8759]
4[Option ID=8760]
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

. 2018
. 2015
. 1956
. 1961
1) 1
(2) 2
(3) 3
(4) 4

U 3ffd 31=s1g PId faf g, APty sarqais fRia ¢d ufRienn gikyg (gafidisd) feg oy sifdyfed
ge di?

. 2018
. 2015
. 1956
. 1961
11
() 2
(3) 3
4 4

b b =

.

D

I

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Sutras

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. B and C only
3.A/B.Cand D
4. A, B and D only
1
2) 2




3) 3
4) 4

frgfafad § 9 @md - G RuUEH yRdg dy T 2

A, SIS
B. RyGid R0
C. 9ol Rrgia
D. 8 g

il AU 7Y fdpedl H I 98 Iugdd IR Bl 99 DI

1. $adA. B3R C
2. FAAB AR C
3.A.B,C3{RD
4. A A, B3RD

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

1.C,D and E only
2.B.Dand E only
3. A.DandE only
4. A, B and D only

1) 1

2) 2

3) 3

(4) 4

fgfafad § 9 gRuR® i =1 fagva &1t g 2
A. ARTA-YHTdt

B. f1e/@ - Hid femH

C. SMETHSdl - 3™

D. iy area=mat

E. Frafia SoRufa emew®
=i 73U U [dedi | U Ul IR &I 99 BT :

1.%ad C,D 3R E
2. $dd B. D 3R E
3. Hdd A, D 3RE
4. HGAA. B3RD




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning
4. Tutorials

1

(2 2

3) 3

(4) 4

3= i Add ®iee & Fufafad d 9 g gy uianfed foar s asdi g 2

. giehg-3HienTy
s aiferme

L N

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

. Lord Curzon

. Lord Dalhousie

. Lord Lansdowne
. Lord Canning
1) 1

(2) 2

3) 3

4) 4

fafRad § 9 98 a7k SR 3R araeRIg S o7 fSr- SHaR] 1857 H GHTARM &1 Sfffas aiivd o,
ST patehl, ST SR AR H fayfaeerdl i RITH=T 1 #1 YRR gl 2

1. ETS Hoid
2. IS Sdgloll
3. S A9
4. @IS ST

1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=8777]
2[Option ID=8778]




3[Option ID=8779]
4[Option ID=8780]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw & ufgu iR Uy &1 3R i

TS ATaIa P WA Bl TH 3G Wi I H JIoT off Thdl § : 3D THER THH —oRH | RY H 5
g [REPRYAD Tl & “gae Udd eid” 3R “HPbS! ol HHY & aR H feradi ¢ | 3u-! ugdl R #.
CTsH SfTala-Ta1Ral & 37U Tided ddb Ugd Ul ol debx Siieieh SRl AT | 28 ardl fhar fob gar fe1 &l
LA GHIT & A i < 0= TR 70, Uiieh1 i fagre =gl o1 fb “H=iebrd ¥d 2R 31T 9o J
IRIRG =9 4 THd g1 Uh g & iR o, 534 30H! U 9ed of | elsH A foran f& siigia 3 foaq
oS UHM W dIb iU SH Thal fobdl 38 fadiil e RIS 9 9 FHidd g1 e o | d d e
DI U UY “Wd 3R AT & 9 H AT B ] Sl “adls AT dTd ARl & [deG 54ls 39l &l Uh
BIUUR & T H ST B IGT U | THS SHGIeH HH U HH diF RO I Ied@-1g 4T | GUH 39 g
R 1 I el 1 SR Wi, YA MR SHiD] GHER HeH] - 39 HE & 99 UHF UR $HaR o |
S, g gl yyarct ffafe J fSr Afgareit 9 4Rt e # HiT faan | gHTSiard! eHered! g |
il b1 GHgd 1 form o fab 9 {9y 61 A gon! g diffd 739 | HadCd! W6 39 3P Afgarefi # 9
U 21 o151 T8 314a1 7 S| BT eaied R TRUIRI &1 | dieR 3R Qg gaiitied dgayul, a8 06
Sficia gl A1 forg- SISl Dl U8 UgHrN B IR AoiaR fohd fdb I=Teh1 1ol RS gHRI A I3 3R I8 b 3¢
Didug Afdaal o1 HRT D1 =R HIAT T |

What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1) 1
) 2
3) 3
(4) 4

TieliSit & 9P iaidd & Ui gigH! U0y o 3RIYD Hididhar a7 ot 2

1. 9l
2. U1 5B
3. YHB
4. FROg
1) 1
2) 2
(3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad i & ufeu stk uy &1 3w i

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
9 UHM IR BT S U [ I8 Tt —mep FRI=IeHe 4 9 i g1 e Y | o d el
DI U UY “¥d 3R ST & 20 § AT - ] Sl “adls AT a1 ARl & [deG 3978 39Tl &l Uh
BIUUR & T4 H SIAHTA B QT U | THE 3iGIe HH U HH oI HRUI I IeE-1d 4T | 54H 38 g
R T & Tl B AR Wi, GG 3R RIS GHER Ared] A 38 A" & 9 UHH IR Har [ |
SR, gg Ugcll xyard! Tfafafer o4 fores wfgarett 5 HRkl T # v fern | gATSaret eHdred! Ig ey |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
) 2
(3) 3
(4) 4

<134 U1 A 39+ uyH RYid § it & T89S 3fieia &1 by gulH fdar 2

1. ST 3eId Bl 3EIHR B Tl |

2. 9 39 G gl R UIu |
3. 3l A 3figIa o1 gAY T |

4. 1iefiSft H A @) B Add B B AR 2l o |

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

‘What was the first effect of the salt March ?

. People were confused.

. Gandhi's followers were reluctant.

. Gandhi was able to garner world attention

. Gandhiji's faith in Christianity got reinforced.
)1

(2 2

(3) 3

(4) 4

THS ScIa-T DI Tgell WHId &1 4T 2

1. ST yfHd ot |

2. el & St S g P ¥ |

3. 1iefl T T A 3D HR U o |
4. 3918 o H TS @1 ey yad ol Tl |

1) 1
(2) 2
(3) 3
(4) 4

e el D —

1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
4[Option ID=8792]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad i &1 ufgu ok ug &1 IR gIioie

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
9 UHM IR BT S U [ I8 Tt —mep FRI=IeHe 4 9 i g1 e Y | o d el
DI U UY “¥d 3R ST & 20 § AT - ] Sl “adls AT a1 ARl & [deG 3978 39Tl &l Uh
BIUUR & T4 H SIAHTA B QT U | THE 3iGIe HH U HH oI HRUI I IeE-1d 4T | 54H 38 g
R T & Tl B AR Wi, GG 3R RIS GHER Ared] A 38 A" & 9 UHH IR Har [ |
SR, gg Ugcll xyard! Tfafafer o4 fores wfgarett 5 HRkl T # v fern | gATSaret eHdred! Ig ey |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

The salt march was the first nationalist movement to attract/incur

. The attention of American press

. comments by the European press

. The wrath of the British Government

. A large number of women participants
1

(2 2

3 3

(@) 4

TH 3ficiel THT YYA AYarcl sficier Uf forr Faferiead o1 sneivd fear |

1. {HRID] U Bl M

2. JRIUR U i fewfomi

3. fodH TRPR BT HIg

4. AfS A UfaHIiEl o YRt g
& 2
(3) 3
(4) 4

el D —

1[Option ID=8793]
2[Option ID=8794]
3[Option ID=8795]
4[Option ID=8796]

Sl. No.150
QBID:3201050




Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad i &1 ufgu ok ug &1 IR gIioie

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
9 UHM IR BT S U [ I8 Tt —mep FRI=IeHe 4 9 i g1 e Y | o d el
DI U UY “¥d 3R ST & 20 § AT - ] Sl “adls AT a1 ARl & [deG 3978 39Tl &l Uh
BIUUR & T4 H SIAHTA B QT U | THE 3iGIe HH U HH oI HRUI I IeE-1d 4T | 54H 38 g
R T & Tl B AR Wi, GG 3R RIS GHER Ared] A 38 A" & 9 UHH IR Har [ |
SR, gg Ugcll xyard! Tfafafer o4 fores wfgarett 5 HRkl T # v fern | gATSaret eHdred! Ig ey |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
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